JU-A : 2021-22(Set-F)

Part A : Short Syllabus

1. oI AFTISTN WTO 8 STANTHIA WCHT (FIN TFH B IS (1 point)
@ A2

[P-2.1, JU-Ap : 2021-22]
PV=RT
PV =&

® vl - %35
SIBAG

Explanation:

SI@WhY| oo AR e @ SIAN@R T45 T
TV ' =K =53%

2. a0 @AfFOAbTEa FIILT=NMN A2 2.51 9F6 Mod orNrazre (1 point)

ofS BT 300) 19 AT FA | (AFGITAGA GTIEANRIF G AfS 6T
JI2A (AT fF AT F167 TP~ FaT0 T2

[P-2.1, JU-AF : 2021-22]

® 1207

2401)

2.5
—J
300

(FAMO2 N

Explanation:

SIBIWhY] @EFSITEET TR 72,

1<=QQ‘Q =%[Q|=W"I‘F|Tﬁ_.\9@ﬁ:j§l_\9w | Q, = dfw WPl
27 N

2800 - ol 3005
=25=30 . w=327=1207

3. a6 AFGTS 15W a7 10 fo LED 1S AT 6 T°01 Gja1 | Tf3re *If@ (1 point)
Hfemta 92

[P-2.3, JU-Af : 2021-22]

15 KWh
150 KWh



900 KWh

® (HFAMGR T
Explanation:
[SIOWhy] sf =fE, W = Il)OT)E) kWh
_15x10x6
= (0.9 kWh= 0.9 unit
1000
4. "o GEBIATS T WIS o1 V" BFI- (I point)
[P-2.3, JU-Af : 2021-22]
I3 FV 9T G5 [RO6

©® NG FIEY J5T FIHN PGy ATV T T
FYCHT (AT NI WG B, Pl TUT AN
(PGS W

Explanation:

[SIEIWhY| Sfewire <o 3 @ =fE, 7 ofes 41z e e
ARE] DA |

5. (PN FI B2 AT STOI P WITATS OATHA OATTATOTHT Tt Weeqrg (1 point)
OIFOT AfTTS N TBANTH AT I T

[P-2.7, JU-Af : 2021-22]
® fSeR
ST
IR0 Aifo
(FIAMGE T

Explanation:

SI®Wh] @H 2 13 A SCOIRT SIET ST SAReeTT
T AR OGOl ARTSHT TOAIE FEE G5 4 = |

~ .

6. x mm IIIL fIFE 7fE 57 20O y m ATy WAfF© A SaAg aforg (1 point)
ﬁW|WWW5ooo A XA, AT 56 Sogge

w@zw

[P-2.7, JU-AF : 2021-22]

Ay
2z



2z
Ay
(A10~"y) /(2 x 107%)

® 5,x 10"

zx 1073

Explanation:
. _AD
SI®]why "lﬁ"i‘q’Zfﬁ‘@‘\@?{ﬂfﬁ?Fﬁ— (ORI A, Ax ==

5000 x 107 xy _ Sy x 107’
xx 107 x x 107

= Ax =

(1 point)

7. AIfETTNA FTLTHNFF 6.31 eV ICA AT O F~AIF F© Hz?

[P-2.8, JU-AF : 2021-22]

® 631 x16x10"1
6.63 x 1034

6.63 x 103
(6.31 x 1.6 x 10~ ")

1.6 x 10~ %
6.31 x 6.63 x 10~

(G2 VT

Explanation:
S why] T, W, = hiy

_Wo_631x1.6x107" o v 6y 107
= Wby BROXAT i 2

8. 1 amu GUAD TNGT *If G (FIG FrAT AT F4T T2 (1 point)

[P-2.8, JU-Af : 2021-22]

9341]

® 934 MeV
934 eV
934 Kg

Explanation:



S-Wh}’ ] amu=1.67 x 107’ kg

. g e, B = mc? = 1.67 x 1077 x (3 x 10°)°

-11
~15.03x 1071 J = lf?:l (1)9” McV = 939.375 MeV~ 934 MeV

9. AFFHINE AT TITAT (FN 4ANT FNF FLA? (1 point)

[P-2.10, JU-A : 2021-22]
O fS7 (A< O

w3 Ol (A [F3 O
O (At 9t
Tt6 fIeq (A Ny f[eq

Explanation:

[SIwWhY| @&foTramE AC @tE DC (S FAed I |

10. qf6 FIRIGHEIAT WA WLATIARY p-Br2Toa 30, FRtoa (N (1 point)
FRISrBaft Afds?

[P-2.10, JU-Ap : 2021-22]

FET
PNP
® BT
(FING2
Explanation:
———— Transistor |
S{@IWhY e
» 2
BJT FET
+
| Y
[ p—n-p | I NPl
11. 389 CTFITGIHNIA HL LT A3NTAL A 4o fFH2 (1 point)

[P-2.10, JU-Ap : 2021-22]
@® 001110111001

100110110011

100110111100

110011011001

Explanation:



- - — ——

SIAW] (3B9)1s = (953)10 = (0011101171001,

12. AMCEEA PALHA AT (B2 (1 poin

[P-2.9, JU-Ag : 2021-22]
ML - 1T -1
® )17t
ML>T ~?2
MLT !

S- Wh)’ ANEd FI9, h=6.63 X 107* Js
9%3: Js = kgm’s™
T [ML*T ]

R R R > .
3. ﬂﬁ? =zt +yj+ 2kRY,OCQ V - 7 FO? (1 point)

[P-1.2, JU-A : 2021-22]

@3
0
1
2
Explanation:
SO 77 = (2 i+ 2]+ 2k)ed+yivd)
' Bx oy~ 0z
e (X)+—(y)+—(2)
=1%1+1=3
1“4 « B = B x A TCT qTAd THTTS (11 597 (1 point)
[P-1.2, JU-Ap : 2021-22]
o

Sy |y 3



3
Explanation:
S = W o - =
SI®why] AxB=-B x A
s e i 9o QeT™ T4e! (@i 180° |

15. {01 5" I (FIN ITAFT FIFCT? (1 point)

[P-2.9, JU-AF : 2021-22]

3 fNOPIT
® 7 fNSHI

SRRk
PEAE

Explanation:

SI®why| <6t 7 =7 7<= e 0o & |

16. qFHfB T TN IFF ©F 2 ke | TN OF 0O AT HAF 1 m | IFO 5rads 1 (1 point)
(FISF (TS g SIfo*ife T T2

[P-1.4, JU-AF : 2021-22]

®25)
12.57
507
100 J

Explanation:

S- WhY Ek =

17. 50 N 8GN 430 IBTSF 6 m BEHOIT GO Gty IH6 [0 (1 point)
NIZE FA 2| A4S 70 J *IfF THFE | WAETF© *If e AT F©?

[P-1.5, JU-Ap : 2021-22]

Iw2=%mr2m2=%x2xlzx52=25.]

N[ —

® 230)
200J
300 J
100 J

Explanation:



SIBIWhY| 75 w9 Tame =%, W =Fh = 50 x 6 = 300 J
. qAGIG® *f& = 300 — 70 =230 J

18. mﬁ}aﬁmm_ (1 point)
[P-1.4, JU-Af : 2021-22]
oSN
SRISED
® 2
SRISE

Explanation:

SI@WhY| Ay A= CFT@ I a I TGS et T2 90°
TodR FodE, W =FS c0s90° =0

19. AP ST FACO AT (RIS (AT FOBT FATS Z(I? (1 point)
[P-1.8, JU-Af : 2021-22]
2
®.
172
1/4

Explanation:

SIAWhY] TxA[L = ) :>L2 G:) xL,= (,D

Aspect Spe_cla]l. I =02 5hy ~ 22 x L; = 4L

20. TFTIHICT GFH6 (NI G (AATSA TG FO? (1 point)
[P-1.8, JU-Af : 2021-22]
1 Hz

2 Hz
® 0 Hz

oS

Explanation:

SI@why| Tt g =0, T=5, =0

21. 27° C STOINTATY {f6 WIFTGH HANR o1 T2 (1 point)



[P-1.10, JU-Af : 2021-22]
® 1242 x 10 2J

6.21 x 10~ *'J

1.242 x 10~ 2J

0.621 x 10~ 2J

Explanation:

iS.Wh}' Ek=%kT =2 x%x 1.38 x 107> x 300

=12.42 x107%']

22. =& A (TN 3T (TN BTeA? (1 point)

[P-1.10, JU-Ag : 2021-22]

JAAC 99 54
DGR RER ]
[CHIIY

® THBEwW

Explanation:

SI@IWhY] =& I=>b17 I @ FEGT @ (A 5t 1| foE
SRS A5 (VT BT |

23. I (TR AFANIYCOR LT T BT RO (B TofEo (1 point)
AM?

[C-1.2, JU-Ap : 2021-22]

ATGE
e

® BT

RGEID|

Explanation:

ST Wy A o ST @e: e, o @ e
A, H @ REG AN 7SI T R NS Ry APER |

24. 30° STANTATT (HIN AICTT AIITOT 5.0 g/L TCA 400mL ST &F AICTF© (1 point)
AN AT HCR?

[C-1.2, JU-Ap : 2021-22]



4g

3g
® g

5g

Explanation:

| . MSERERIRRUEISE
E@]@ma}ml = ﬁﬁmmmﬁ?ﬁw

:>S=OE4 — W =5x0.04=2¢g

25. Cu?* WIIMIRA BT AL NH,OH BIT (15 FACA 5 I 53 772 (1 point)
[C-1.2, JU-Ap : 2021-22]
RETHT e
® 55 T
BlLap
TG

Explanation:

SI@Why] CuSO, + NH,OH — CuS0,.Cu(OH), + (NHy), SO4
CuS0,.Cu(OH), +H(NH,),SO4+NH,0H — [Cu(NH;),]SO, + H,0

(GBGT STIRE T2 (11) o (376 =e)]
26. (1 AfFH G TN CNTHF F[AONLTRT G TVIF FATII AR (1 point)
[C-1.2, JU-Ap : 2021-22]
AFHR
(PN
® oy

(RTINS
Explanation:

S[Ewhy] M7 v Rursmd @PH, WPHE @ e,
TEoNTod, AT, QIS e, AR, @ NIGRiE s&fs 3eonm
AT 91 T | TGO AToH OFel AW [ONH Iz 27 |

27. [Ar]3d'%4s" RCAS { fIFI151 Ce1- (1 point)
i. Cu?™ e

ii. Zn2t OIrE~



iii. Fe* SIre=
Ao (e Ao
[C-1.3, JU-Ag : 2021-22]
®,3ii
ii @ iii
i 8 iii
i, ii @ i

Explanation:

SIIwhy| ¢ Cu* 9 =6 G T4 — o
e Zn*" q (6 3rEFT 7R — b6
e Fe’" @ (N 3Eg JAT — 875

28. (FMG SONNF (FTART AT TATHS? (1 point)
[C-1.3, JU-Af : 2021-22]
CCly
SnCl,
® SnCly,

FCC12

Explanation:

SI@WhY| * SnCl, — S57fiw @Rz
* SnCl, — SBIHM @IRIZS * CCl,— {9 GRIFRIZT
* FeCl, > (T @EIZG

29. [Fe(CN)gl* SRR (TR AN FHFAT (FING? (1 point)
[C-1.3, JU-Af : 2021-22]
Sp3
sp>d
sp3d2
o 2sp3

Explanation:



[SI®IWhY] Fe** — 15% 25? 2p° 3s? 3p° 3d° 45° 4p”
3d 4s 4p, 4}:)Y 4p,
1 T T

T
S\TCN CNCNCNCI:I/

e
d"sp3

- ~ —~ o~

30. TN (AT T (T ALY BN T, NS AN OIHT (1 point)
CITHIAT AH0 HOAHF I FF AMFH | 9% AO[TI S [F It

[C-1.4, JU-Af : 2021-22]

NP AP

S RINIEIRICIGEE
® WIS AP
F-AITH

Explanation:

[SI@IWhy] g g ammife Riear crm Seeiom @ aa s
S SR Roma fifermm coite s 31 @ Wt 41 -

HORT I | @ ferm ot ffirnm =29 o s @ T
@TN: Mn*" 436 SBT3 F-2rT |

31. 1M NaOH B9 PH 99 TN 92 (1 point)

[C-1.4, JU-Ap : 2021-22]
11

12
13
® 14

Explanation:

[SI@Wiy] pOH = — log [OH] =~ log (1) =0
pH=14-0=14

32. (RTZR ML 8 THFHIN FI (N 4T SAIN? (1 point)
[C-1.5, JU-Ap : 2021-22]
*EAT
® Iy
IEQIRE



HDICEEL

Explanation:
[SIO[WhY] s I A1 8 FoFe iy I |
33. fOTA MR (@G A2 (1 poin)

[C-1.5, JU-Af : 2021-22]
® 6-10% CH;COCH,

6-10% C,HsOH

6-10% CH;COCHj4

6-10% CH;CHO

Explanation:

[S[@]whY

J— WIS AP \F (6-10%) S 739/ TS
Ry GTeT Y TR (4-10%)

e [STTIIE [SI0oeR 3 TR 36 4% CH,COOH Havt

S SO [T 7 FIROCOHH 3d 4% CH;COOH A3 |

PP — YT FIRECoHT 9 Ai® 4% CH;COOH 739 |

qT3 Sl fSreRS T |
=R gRe  Jfe TEOCONN  ®El SeAg
" |4%CH;COOH &3¢ |
34. IIYAGLA CO, 49 AT T2 (1 point)
[C-2.1, JU-Af : 2021-22]
0.3%
® 0.03%
0.003%

3%

Explanation:



S[@]Why| TR TAMI:

ISR T SAIPTR
bRl 0.80
T TR-IHRE 0.033 :
iET e T0g: He (0.15-1.5%)
AT AR (0.80%) “Hfsier F=eoey &f¥

35. (.95 atm BICH 25°C HIB MTTHAT TSN 40L T OF OTHNATGIY 1.0 atm (1 point)
BITH ST d SIToN $© X042

[C-2.1, JU-Ap : 2021-22]

03L

0.38 L

0.389 L
®33L

Explanation:

- 0.95]><4.0 —38

| QST S 40 L 20T T Bad 20 41 |

[SI®]wny] P,V,=P,V, =V,

3

36. (P 4ATNF BISF AN DO AF AfFINTT FATT? (1 point)
.
iii. (OGN IS
fAtea e Aféw?
[C-2.1, JU-Ap : 2021-22]
191l
i1 8 iii
1 8 il
® i3 iii

Explanation:

SWhymﬁamwmeWﬂﬁﬂ%ﬁfi@wme
fafeq @@ qage S 9% 3@ O] 8 SEd M ore
LA | %0 DO @ A= T 17 | DO 97 T/l 4.6 mg/L 97 T
CATeT A1 wfee =z |

-—

37. SATP (@ ITCHAS (NTATS SO~ F© fForg? (1 point)




[C-2.1, JU-Ap : 2021-22]

224L

24.789L
® 244141

24.4L

Explanation:

|S[@]WhY| * STP & ci@@ sieq = 22.4 L
* SATP (9 CIE SIS+ = 24.789 L
* NTP (3 GTETR SIS = 24,04 L

38. (PINIG TTF CAST T2 (1 point)
[C-2.2, JU-Ap : 2021-22]
CHy

HCHO
® 1CN
CH;OH

Explanation:

IS[@]Why] HCN @t sitem st | %‘ﬁ%_\'—a“ﬂmﬁm fawre wqe
& oﬂfrém 4 @lst: NH,CNO, NaHCO;, H,CO,, KCN 2wjif# |

39. {6 (FHIO ZTASCGIFIZA? (1 point)
[C-2.2, JU-Af : 2021-22]
® AlCI;
NH;4
R-OH

H,0

Explanation:



S why ETGIEIE:

er‘m W (BT FALRI6)
| I LS
ST BIRAEIRE SO;
A GIRFIRIZG BF;
cfafera @ERe ' BeCl,
SR HRERIRE AICl;
T @EIRT FeCl,
qfTT PRI RCOCI
e T >C=0
40. (PO ATV IS T2 (1 point)
[C-2.1, JU-Ap : 2021-22]
Co,
CcO
® S0,
SO,
Explanation:
S[@why ani‘mﬁ’r 8 CTFSIA! a:
im{w Wu—i‘ eFE
| SRR TF W W
T AR T T mw’i@ 20y 7 YOI
qereett, =R, G, SOz, €O | g o, H,SO,, N,Os,
L. H,S, HNO; 3, PANs
41. Ca0, heat (1 point)

R — COONa + NaOH —""5 A + Na,CO; , A C1f6 {32
[C-2.2, JU-Ap : 2021-22]
TP
SR
L AL GICRIEN]
FREF ST

Explanation:



fC-srdifaEm e
R—COONa +Na(OH).CaO -» R-H + Na,CO,
G

42. MNTRIR G SIATHIRA NS IACY - (1 point)

i. Na 4TQ T39S TW
ii. PCls TGN TH
iii. AN fFs 9o TIITo 3T

Ao (a=fe Afdw?
[C-2.2, JU-AF :2021-22]
1911

19 1ii
® ;i Siii

Explanation:

SI®Why] PCls =3
R-OH+PCls — R—CI+POCI; + HCI
HCI + NH; — NH,CI (Fw1 cqiat)

CTIeTT 419 Ad=: R—OH + 2Na — R—ONa +H,T

43. 250 mL 0.1M H,SO4 BITT F© YTV H,S0, AM(R? (1 point)

[C-2.3, JU-Af : 2021-22]
®245¢g
2.90 gm
9.80 gm
4.90 gm

Explanation:

[SI@[wny

b

=VS=W=98x025x%0.1=W=245g

<<

4. fofN 8 STATITGT XTAL- (1 point)
[C-2.4,,JU-Ag : 2021-22]
ofGs [y
AP {A AR



® TyToq AFI2!

ofog Iy
S[@]why] =fer wRrewr «f=td):
. Zsﬁwmmcr — * WM (CH;CH,0H)
* I BRIFREIRE (CCly) * (FIRTAT (CHCL,)

* T (UFES) 534 (C),H,,0,,)  » AT ST, 18, TR

k—1

45.
kﬂ?WWW( )

k_ 22> WA Rerdosgaer e ¢ PO

[M-1.1, JU-Ag : 2021-22]

Explanation:

SB[ 2%]=0 = 0-D&-2-(-2x(2)-0

2 _afu o i d a1 d e g Nl

2

46. 1 2 3 01 (1 point)
A=145 6|49 B=|2 3| X(AA+B=?
7809 4 5

[M-1.1, JU-Af : 2021-22]

Explanation:



SI®]wWhy| A @7 ST 3 x 3 @R B @7 W@l 3 x 2 | (@R @l
A 7 O @l 1 78T |

47. (1 point)

1 1 1
1 2 3| A TN 2 T, kK AT TR FO?
1 4 k

[M-1.1, JU-Ag : 2021-22]

®9

8

7

6

Explanation:

111

SI®Iwhyl|1 2 3|=2=102k-12)-1(k-3)+1(4-2)=2
1 4 k

=2k—12-k+34+2=2 =k=9

—

48. 3x+4y+2=0 JQ3 3x+4y+5=0 TNTSATA AAATIATRTNG NLITOI fag Fo? (1 point)
[M-1.3, JU-Ag : 2021-22]

® 3/5
3/25
3
5/3

Explanation:

SIOwhy| 7w = | —=2=2_|=3
S@®Iwhy] 5= N

49. (-8,3) 432 (2,1) FA=THMT AFACAAT (11,-1) 932 (k,0) [TFW SAFeTCAAF (1 point)
ANTF AT TA Kk d9 90?2 VN
[M-1.3, JU-Ay : 2021-22]

®c
5
3
8

Explanation:



SIOIWhY| F=reare 20 b i 29, —s = O+ 1
. m’ 2+8 k—'ll

T T 2k 22 =10 =k > 6

=

50. x- % G32 (2,2) [T 203 5,0 Afoa Eag I NN Ak Ga NN Fo? (1 point)

[M-1.3, JU-Ag : 2021-22]

o
u>|§ N N TS ;ly,;

Explanation:

S[OIWhY] x =% z7@ (5,k) 97 779 = [k|
(2,2) g @e (5.k) 93 @y =/(5-2)%+ (k—2)

=9+ K —4k + 4
TORCT, K| =9+ K ~dk+4 = k2 =9+Kk 4k +4 = 13/4=K

51. d{ 2 } ) (1 point)

[M-1.9, JU-Ag : 2021-22]

Explanation:

; ' 2 | 2 2
i x 2x (x> —4) —x" (2x)
42| s ne-a
% B D%’ — 8x
C=4Y =)




52. 2 d  poi
y= tan_l(l : 2) T T (1 potn)

[M-1.9, JU-Af : 2021-22]

Explanation:

= =l 2x . — -1 2 Sd_z: 2
SWth tan Fay ) 2tan X 2= T

53. y=x3 - 2x2 + 4 IHLALR (2,4) [TVTe WiiFgEe = s qa AFavfAeg (1 point)
(FHB?

[M-1.9, JU-Ag : 2021-22]
4x-y-4=0
x+4y-18=0
@ 4x-y+4=0

x+dy+18=0

Explanation:

S[@why| y = x* —2x° + 4 @3, %23"2“‘“‘

AT, y—4=4(x—-2)=>y-4=4x-8=4x-y+4=0

o4 /ew (secx + sec z tan z)dz dd NN F9? (1 point)

[M-1.10, JU-Ag : 2021-22]
® Ctanz + C

e“sece + C
e*secxtanz + C

secx +C

Explanation:



SWhYJ.e" (secx +secxtanx) dx => e*secx+c

5. 4x2+25y2 =100 SIS BT WG CHTIT CFIHA FO I GFH?
[M-2.6, JU-A : 2021-22]

(1 point)

® 107
| XZ 2
SI®Iwhy|4x? + 25y% = 100 :E+%= 1

, 2
:>15\—2+%=1 s (TAT =1 x 5% 2 =101

(1 point)

[M-1.10, JU-Af : 2021-22]

® In2
5
Explanation:
3
X i
S[@wny] == ¥
© 2 1+x 1+x%=2
10 10
=>f5%d2=>[lnz]s = 2xdx = dz
X 2 3
=Inl0—In5 =1In2 7 5 10

(1 point)

- 5x2 x13= STNGATTA TG a 8 p TCA, - + % I3 NN (FA(B?
a

[M-2.4, JU-Ap : 2021-22]



Explanation:

Ll
o’ B

thUJIUIIG\

[SI@WhY 5x2—6x+3=ouﬂaqﬂa,pm,a+g=g

58. 2% — kx + 5 = 0 TNFANBT IBB T WARBI HFRTICAK GANRF©2? (1 point)

® 3,10
v/80
2V/10
v/10
Explanation:
SIQ[Why] 4, T
o AR 2a .. a+2a=%
= 30 4 gy 5 L
4 12

[M-2.4, JU-Af : 2021-22]

> & ) =3

99, 20 4:>cx .
K7 |45 720
= ke A J[——
& 5 44 g

59. 32° — 6z 4+ 1 = OTNIBATIA YA a 8 B ml ,gzg%m ST Faw (1 point)
(87

(FRG?

32> — 6z +3=0
® 2 162-3=0
22 —6z+3=0
2 —6x+1=0

Explanation:

=3_6x+%x*=0 ..

S[EIWhy] 3x°—6x+1=0=>3 (—)2—

Y —6x+3=0

[M-2.4, JU-Ag : 2021-22]

6x111=0=3 841=0
X X X



60. 2 _ 72 = 1FTRATATATAIR NI HOd TN T2 (1 point)

[M-2.6, JU-Ap : 2021-22]

Explanation:

[SI®WhY] y* - x* = 1; g (x,y) = (0, £ b) = (0,£ 1)

(1 point)

6l. g2 2
~ + 7 — 1 8eqaior SeafuTer vo?

[M-2.6, JU-Af : 2021-22]

Explanation:

' S SR N I XU
SWhy—9—+l6—1 S AN eSSy

9 2

|

62.

2 2 1 point
=+ L = 18ogefBa e ufew Ty T (I point

[M-2.6, JU-A : 2021-22]
(0, +2)
® (+£20)
(+2v7,0)
(0, +£2v7)
Explanation:

2 9

S.Why = Y——l =

. g = -\/1———-\/:—— GoeE = (0, +4x—) 0,%2)




63. tan_1<l> + tan_1<l) _ 9 (1 point)
2 3 )

[M-2.7, JU-Ag : 2021-22]

3
® on
5
i
Explanation:
1 14
SWhy tan™' 5+tan'1% = tan™! o
] ——=
23
3+2
o r >
| -1 AP T
= tan _6—1 = tan 1 :>4
6

(1 point)

[M-2.7, JU-Ap : 2021-22]

Sl G o g

Explanation:

SI@Jwhy]  f(x)=cosx

5
=] § — =k .3_ — i é — .3_ 4
f(COt 4) COS (COt 4) = COS COS 5 35

65. fNTHd (PG TIAF *1FH T2 (1 point)

[JU-Ag : 2021-22]

nfve



B
® Tz
EIRE|

Explanation:

S[@]wny| Eifze 51 ziez - =+ |
Seavce, K, (iifde; afere Tete TSF @[T |

66. "TRINA" (FTN AN SANA? (1 point)

[JU-Ag : 2021-22]

KK
® TNerR

O NPT
ERRIEE]

Explanation:

[SI@]WhY| T + T — ST 7T |

67. 'Delegate' *ITHI ATMTSITS *137 FHG? (1 point)
[JU-Ag : 2021-22]
; w
SN OIR
AT
® SR
Explanation:
S[®]why] e Delegate — afeffy |
e Transcript — &S | e Dialect— oAl |
e Diplomacy — F6AIf® |
68. Choose the correct article in the following sentence- (1 point)
He is playing flute.

[JU-Ag : 2021-22]



an

® the

Explanation:

S[®]why] Flute ©<ot {72 IMi@s 99 ©1R Answer the U |

69. Find the pair which has same relationship of Bird : 'Ornithology’ (1 point)

[JU-Af : 2021-22]
Earth : Geography
@ Earth : Geology
Earth : Biology

Earth : Antropology

Explanation:

Ormnithology @& W Geology & gog
of<wil | &% 8 Option B 99 FT47 Same relationship FCCR |

70. 'T know the fact' - Change it into passive voice. (1 point)

[JU-Af : 2021-22]
The fact is known by me
The fact is being known by me
@ The fact is known to me

The fact is known

Explanation:

S{@]WwhY| Active Voice (& Passive Voice #4909 Active Voice
qq object (¥ Subject FAE T +Tense @ person SgIR!
Auxiliary verb + v; + preposition + active voice 99 object (&
subject ¥4t® ZF | Known to — #fifo® I sl Appropriate
Preposition 341 Answer X< C.

7l (A+ B+ C)BC 93 TAABAT XCAT- (1 point)

[ICT-3, JU-Ag : 2021-22]
ABC
ABC
ABC
ABC
@ Blank



Explanation:

SIQ@wWhY|(A+B + C).BC=(A.B.C).BC=A.B.0=0

72. (N AMFB 16 FLLTFH INAB (F 40 TUCBALE FATFI FTA? (1 point)

[ICT-3, JU-Ag : 2021-22]

® FTR
fSrsror
GO
SV

Explanation:

S- whY| 2" —| Encoder|-n; 2° —| Encoder|—4

73. {69 (FRIG FIOONAT G AP V- (1 point)

[ICT-2, JU-Ag : 2021-22]

ARG RIGRIIEIY

®Y STAFF NATHL SILAT N FACS A
A (512061 STNFCY f6®
® =13 (NI RO sy B

Explanation:

SI@®IWhy] F&G FTq e RREIR e 0 |

74. WAL RN oG 8T MOy F©°? (1 point)

[ICT-2, JU-Ag : 2021-22]

1.5 Mbps

4 Mbps

3 Mbps
@ 5 Mbps

Explanation:

SIOWhY| 25w Rafie Bfbea AsTEA 5 Mbps STIEH

75. (DADA);4 (AT (BABA) ¢ (ATF FO (QIB? (1 point)

[ICT-3, JU-Ag : 2021-22]



(2021)16
(2022) 6
(8224)
(8021)¢

® Blank

Explanation:

h

S@Wl;):

A D A @, A=10
A B A B=11
0 2 O0)s D=13

&)

N O

76. (RN AR 47 SCY TR (FTI6 TITHTT FW ATTGSToYA? (1 point)

[ICT-5, JU-Ag : 2021-22]

® v favel
TIoT SIS
SRS C|
EZRaICIOF|

Explanation:

SWhY Machine Learning in seen as a Part of artificial
intellingence.

77. Web browser XTIl éla?ﬁ?- (1 point)

[ICT-1, JU-Ap : 2021-22]

8TTJ (3G

® T TFLSWH
RRARF
IO GEN

Explanation:

SWhY A software application used to access information on
the world wide web is called a web browser.

78. fNTEA (N HTML code fE TON AT SRTGTS 816 T3 Gy AfBfIBE (1 point)
value RTTI IIqmo T2

[ICT-4, JU-A : 2021-22]

target



® blank

ncw

herf

Explanation:

S[@wny] «aGREs

<atarget = "—blank" href=" ">
Y

GRS
OJ1e]

Part A : Extra Syllabus

79. 2, /5 A3 3 WA o6 39 (= 96 fI~re fHFmae| gar o/ (1 poiny)
SIAATNT ST FATA AATAIG IAZCAT VLTI (FICTE NN FO?

[M-2.8, JU-Af, : 2021-22]

30°
45°
60°
® 9(°

Explanation:

SIOIWhY]s¥ FeTaed F<e! (1, 37 = 224(~[5)2+2.2.[5 cosol

:>9=4+5+4\[§cosa £ voso Fi0 nojo@ P95

‘ F O O ) i =

80. 60° (P fHTA® /5 TP NN F2{6 TN I w13 F©? (1 point)

[M-2.8, JU-Af : 2021-22]

2v5
® /5

10 + (5v/3)
10 +5v/3

Explanation:

S-Wh}’ R=2PCOS%=2K\/‘_SCOS%Q=2>< -\ﬁ xlzé.__.\h—s




JU-A : 2021-22(Set-I)
FAFAna AfS Roiermrgat:-
. %J%Physics & Math Unit) Unit “TSHIY (TG 2PY=80 B, (B WIFH=80 43 (TG ANT=55

|
. Ao MCQ 97 TT 90 Fta 75T Bea AR 1912, AfS® MCQ a7 fés Setaa
B FATAE FATO 0T 932 (FIN AN NT AT (N A FHTAa<g FAT N

o SfFE=23, MATSEN=22, TITN=22, A=, ZAGI=9, Iz Vel ([T [77F) = v 757711
RIS SRS RII0T9-2 T8 g F40% 21|

. ARSI O TBET G5 0.2 VF Fo I S|
o (I HPRY |§§

MCQ AR (T FUOF G ST W2 e FE Submit A {FF FI (O
OB ING O R(J ]2 Y AT COTNT AT (I (MATO A

FIAFLAGF AR P I AT

Part-A: Short Syllabus

l. BN HOIIT T WATSS (FIONF o5 v fIFEY Z319 2= (1 point)

[P-2.8, JU-Ay : 2021-22]
N AW
® I o
AR AH
LEAD Y

Explanation:

[SI@]WhY| E < J

A
oqre Rf¥ee @E I T0T TSTT SIAWT Jfa AT |

2. 594 [RS8 It e T2 (1 point)

[P-2.8, JU-Aj : 2021-22]
10710m

. 10_151’1’1
oY
10710m

Explanation:

SI@why| clfer 3=: W o
| TR | oepERW | qiefrere | e feipe
ona_r ﬁﬂ_ ﬁﬂ- 10—-16_ 0—15 10-—15_10—14




3. (AFHCHINA FRTATT TG (I 4ANT ANFT FA? (1 point)

[P-2.10, JU-A[ : 2021-22]

® f5 (s fofT
R AT (AT B 6
S (At afst
None
Explanation:
SIBIwhy| Trare: 6 Sfes 7@ ATE | TA- 5. FAT X, AT
TGS IO &AOIP qGR IT o
p HII p|n

I (d) GEFEoEEE I G @H, AC & DC @1 (R)
fSloaew- @oR © fofea Prsiaye fioeaq |

4. e @ JATTF WY (I HWWWW"WJL? (1 point)

[P-1.5, JU-Ay : 2021-22]

180° > 6 > 90°
® 180° > 6 > 90°
180° <0 <90°
180° < 6 < 90°

SIQlwhy| Fi= © @R:

¢ EEFIE — 0°<6<90°
¢ WNYST IE — 90° <6< 180°
¢ NI — 0 =90°

5. S HTHITE COTTFOOT (513 (ATO (A - (1 point)

[P-2.10, JU-A[ : 2021-22]

® N33R0 TIe= ST ([P IR T ARF-GN G+ [ ([
e 9fN T RYA QIF 432 T AT=2F-9f N T TR ([
feTIF-GN G TR ([AIF A8 L ARH-9 N G YA ([
(PAGE W

Explanation:



SI®IWhY| srefaeries enwE o3 ot T 3R0E 9
HPTRE (@ TERC @ RS 37 |
Emitter Base __ Colletor Base JICET 499
RSk faont Active
_ﬁF‘anf TERS Inverse Active
faent : et Cut off

6 ABBFMAGHNAF = 5i + 3) - 6/ I TN FATT FNB X- SH IqRE (1 Poind)
10m STTH (51T | FNF SNT FOIG] FO7

[P-1.5, JU-Ay : 2021-22]

30J
® 50)
-60J
15J

Explanation:

SI®IWhy] X-=r Tw /=, S = 107

- goFrE, W=F.S = (5] + 3} - 6).(107)
W=501]

7. CTFG (AEATS () WS F o 927 g 93- (1 point)
[P-1.8, JU-Ay : 2021-22]
o TS
I TR ST NSF

I YT TBHAOF
(AP

Explanation:

S@\\'h)‘ GileT (SIS (@, T = 211—\/%

g o L WY EoEs gt 8 @ A S ANGAISF |

8. 15Q CATCYR AF(6 B2 (FIAD 100m FFT B0 ST I TGN Goy (1 point)
TS ST ST (GIST TRt 90 1 tofd Fa1 291 92 I& ornad
GAILATY 0 Q (2

[P-2.2, JU-Ay : 2021-22]



15
30
@75

(FING2

Explanation:

S[@WnY] W oI TSY 9% WEMl St {F P G0l
FANREE AW I Rec L
Ry =R R [L, = 100]100 = 50)
1
——5—0—- L § = S
100>~1:> 7.5Q)

9. fT6a (TG IB Y2

(1 point)

[P-1.2, JU-A[ : 2021-22]
(P+Q)+R=P+(Q+R)
® m(P+Q)=mP+mQ
P+Q=Q+P
A.B=B.A

Explanation:

S[@]Why| 533 QT IS I

. c@@?ﬁﬁwaﬁkx+ﬁ=§+z

. mmﬁ{@:(}i+§)+e=z+(ﬁ+a)
« (S3EA TVT9@: m(A +B) = mA +mB

10. ;) STAT A0 IFA oIS E I 97 SA@T T2 (1 point)
[P-1.5, JU-Ap : 2021-22]
my/E
Nor
® \2mE

mE

Explanation:

| . |
S[@]Why =2P—m = P*=2mE =P =+2mE




11. q3fe fIratey el 2 ETa ST OIorarar 200k, B (AT 25205 (1 point)
ST ATV BT 3780 O (PG (AT | ATILHF STANTHT TS IS ATA?

[P-2.1, JU-Ay : 2021-22]
133.33K
® 300K

0.0075K
1K

Explanation:

Why| @icdt Sferea orrm, QL = L

2 T2
T o R N
Ty =gt % T =505 % 200=300K

12. 4Ff6 TAATAITIS CAIANITA 20% I FATS 97 FIIFT (T FOGT (1 point)
oIt X(J?

[P-1.8, JU-Aj : 2021-22]

9/25
® 1125

5/4

4/5

Explanation:

'2
SI@WhY Ta:\/l_,:bLo:T2:>L2=Lx(l'2TOT) Y. 142

ol 44 _ 11
CoAL=144-1=044 = -
100 425

13. 76 B (YTF AN T (BN FAUE 7w N HIT 9F2 Saeneig (1 point)
7fo SIArFoay Noye ta ortig _ |

[P-2.7, JU-A; : 2021-22]
o O
(N ST

® 3757357 B
(P62 T

Explanation:



SI@IWhY| e Bera iy
i, FE T (AT S g 7 |
i, 938 W1 AT A TG 9507 L |

14. (PN ZTAA SATH*T (YTF ATNG SATTOT ST aFC IAgIwgwa (1 poind)
TS 50 BT TH ATNGTAD 5IN10° N 2 TCA ITHA OO FS?

[P-1.10, JU-A[ : 2021-22]

® 91.84m
40.81m
100m
50.81m

Explanation:

[SI@))Why| =mreT n @t zte 1Sy,
h=Mn-1)x102=9%102=91.84 m

15. fRToa (RO S 874- 97 AR (FMCOT ST (1 point)
[P-2.10, JU-A; : 2021-22]
1000011110100
1000111100

® 111101010
SIPOIR AP

Explanation:

(874),0=(111101010),

16. 10°C STNTATA 5kg TN NNTH 32°C SIANTATT ORI FATH 4{fHa (1 point)
HAfATEN (TN =2

[P-2.1, JU-A; : 2021-22]

o SRR
S RIEES
ST AP
NS O BB TG N

Explanation:



SI@IWhY] @GRl fees ol | Srenar G SPTRE
(QBTR AISCE, T GG AT | TOAR, ARG ARET (A |

17. 0oC STNTTY TIAIT =G TN 92 (1 point)

[P-1.10, JU-A[ : 2021-22]

0.40cm Hg

® 76cm Hg

oS

Explanation:

S[@]why| &=t Srerr@r — 0°C 31 273K 4
e 51 = 760 mmHg = 76 cmHg = 0.76 mHg |

18. " AR FNTY (FIN FNT WAIFN 8 GAIS T8 WfA=o3rora @erwe (1 point)
FURR AT IHTFO $IP WS (F6 O AT I"'-

[P-2.8, JU-Ap : 2021-22]
MHI AETT NS
® FGRA qF A=Her NS
(PO 7T

Explanation:

SIEIWHRETERITR S swet s@: I @ FAF @ e
T SRFAT ATFTOT Ax @GR SARCE FAYHTST Ap T, ©F
G QAT TR YACDT AN A @ Q| AL QACTAIITIT
SfTHTST 5@ T |

h h h
o sifRfoseId, Ax.Ap > > [h_Zn] ::»Ax.&pzmrI

19. STIfBITAR ATEHT IIOITS XA (N6 (FIN ATV *70 & FACO =(J- (1 poino)
[P-2.2, JU-A; : 2021-22]
IBEICASICARIRIAS
Ty @4 Sifkts
IREICASISRIRCEISG]
® F (1Y TBAA

Explanation:



SI@®Iwhy| =05 8 cerofibT s

o 96 o9 @UREE v | orohBE Ut OF @Y (e
TS STTOAINGE | 996 551 | 55 TOa STESTAINGE | GFi6
TEAl STESAINGIEE Y | 58 TS SIS iRGEs A
TR 14 SR & 6@ | THIEE @4 @Tiee 3@ a1
aft tefT | «fG ¢4 |
20. (PN WHNITSA (B2 97 S IFBIABIA g 5000 (AT ATACY | G (g (1 point)
Ata 58964 SATTTATH T WITAT CHFATH SN fOTad BT WIS (I

TO?

[P-2.8, JU-A; : 2021-22]

o _1<5896 x 10710 x 5000)
Sin
1x 102

_ _1< 5896 x 10~ ™ )
Sin
1 x 1072 x 5000

, _1< 5000 )
Ssin
1x1072 x 5896 x 10~

(FING2 T

Explanation:

S[@]Wh)’ dsin® = n)\

= 0 =sin”’ (-':j—?”-) = sin”'(NnA) [N = % = 5000 x 10%]
A= am1(5896x107'%x5000
" 0 =sin ( T3 0_2— )
21. IR AT (FRIG? (1 point)
[P-1.1, JU-A; : 2021-22]
I
R3S
TN
@ SIBTR
Explanation:
[SIOWhy] w+iifes affemz T@ds af | @ @, Rl
TR, HCATFS Yo, ST TGS |

22. 1.0 atm BTTS 30°C SINTHTT AFH{B SITHA WTOA 0.5L O STHNNrgqry (1 point)
2.0atm BTN MTIBF WITON O Z(J?



[C-2.1, JU-A; : 2021-22]

O.5L
® 0.25L

2.5L

25.0L

Explanation:

SIAWhY] PV, =P,V, = 1x0.5=2xV, = V,=025L

23. 0.1M NaOH AJT9q pH 9 YN F9? (1 point)

[C-2.3, JU-A; : 2021-22]
11
12
® 3

14

Explanation:

IS[@IWhy] pOH = - log[OH]=1 .. pH=14-1=13

24. FRAN AT SACY (FINB AN TS (1 point)

[C-2.1, JU-A; : 2021-22]
ICLIACT
ARV ©F
ST AR ©
® STy WfR{F B

Explanation:

S[@]WhY] SRIGIT IFIA F@: raﬁumﬁmmww
ST T TRereiifos |

25. fR 8 (AT AT B (N AT GATAN? (1 point)
[C-1.5, JU-A; : 2021-22]
QB
LUIPE
® SO
Yy



Explanation:

[SI@]Why| oI @12 8 @7 et 3 |

26. R — CH, — Br + NaOH(aq) — ©89W; fAfFToa Frre 2 (I point)

[C-2.2, JU-A; : 2021-22]

READGIPITP AfOZH
® NTiFefFas Afozgm

AR R

STG R

Explanation:

SI®]Wny] R-CH,-Br + NaOH (aq) — R—CH,—OH + NaBr
YISl ST (R-CH,—X) W& 4qo@ ey FRaE
@ o A1 fefFewiza (@ LEah T0a 9w 8 e
TY) AMET FE; TE YOG SRE (X)) @Hiea ke aet
afogiore g |  Fw @Hea [ 1 FefFswRa o= R—X @1
YIALSH NG YETRe IEaaey Afore zeme RiGu
@FQIRY 1 feiPefEf afegrem (Sy) T T |

27. IYAGTA WISF 97 AfTNT FS? (1 point)
[C-2.1, JU-Aj : 2021-22]
8.0%
® 0.80%

0.08%
0.008%

Explanation:

S\Vhy ISR TAWI:

oqpefe 0.80
fFT e Tug: He 0.15-1.5%
ST S5 (0.80%) AfFer Jwowy @

28. 25°C OINNTHTH (HIN AICTT ATATOT 10g/L XTA 600 ml T™F HICTF© (1 point)
N AT HCR?

[C-1.2, JU-A; : 2021-22]



4g
® og
8g
Sg

Explanation:

_ O g ("IN 93(F)
SWI]Y WWWW

A\
10=— = W=
= 0.6 6g

29. a3f6 AFTAT NfNT DO 9T W 4.0 TCA NRO =C3- (1 point)
[C-2.1, JU-A; : 2021-22]
@ Jyr NN

TS A~
DLl
4q AN

Explanation:

SC_]‘EVhy Rk offfea DO @3 oIfZSTT 4-8 mgL™

30. HFANIYR (ITH OIF AIRF ©d 8 AfTIO® 5] (FTHhgo AMFH| gBrg (1 point)
&t

[C-2.1, JU-A; : 2021-22]
® (5N

ATGEN
RSERIE

(P2 TG
Explanation:
SIBIWhy]*i=wida (0 oI FRGE o7 @ #AfHfos b1et g e
SItE YOl I |

31. (G Ao S SuataioSs CasT? (1 point)

[C-2.2, JU-A; : 2021-22]

EREERD
SIRIFIATTANN



(Ao
® 3T

Explanation:

S[@®]why| [Ewifes SEmms c: coe smEts o
B R F1eet T =6t My @B o e sfamiq wer fay
*Ig, (N,0,S,P) 27wt fawymis Uits wits 495 sifes Qe 96T |

ROIEFNIRET I {9y sifers
C,H+(S,0,N)
!
v ]
ROl Wferafes RO IEAT S BE
CH2 _CI"12 _ .
Yl minlule
O S N N
fafew swzs frea  enrmifirs }II foifafes
MIECC
32. (G aﬁnﬁmwv (1 point)
[C-2.1, JU-Aj : 2021-22]
® 5o,
SO,
NO,
HNO;
Explanation:
SIBIwhy| &R 8 ISR 17T
{ereell, @2, G, 5O, CO | g, N, HySO4, N2Os,
COE , NH;, HS, HNO, 3, PAN
33. (@R AfF TG ©ae (T O O7 IR FATTA? (1 point)
[C-1.2, JU-A; : 2021-22]
(RN
® oy

[CESfalion



AFHR

Explanation:

SIGIWhY] w51 Qrim Reaea sirew, wiefa Ao, qrewies,
f=BI7 #ffow, TTEo- ATow, JIRS AHHT o5 73ge =7 |

34. CHRfI BITT Cu,0 AT ST HLTHA (M - (1 point)

i SITANGRIZG
ii. =arNs 9o
iii. S[JCPTOY

[C-2.2, JU-A; : 2021-22]

Explanation:

SI:]Why

? I
O R-C-H + Cu(OH), + NaOH — R-C—ONa + Cu, O{ + H,0O

e QYITTHF

O HCOOH + Cu(OH), + NaOH — Cu,04 + Na,CO; + H,0
T YSTFA

O C¢H;,06 + Cu(OH), + NaOH — Cu,04 + ?OONa + H,0

T (CHOH),
SYETF |
CH,0OH
_ feam Y
35. Cul* IR ANG AT (S0 TFIIE T2 (1 point)

[C-1.2, JU-A; : 2021-22]
K,CrO,

PbCrO,

(ST &1

@® NH,OH

Explanation:



SI®Iwhy] Cu®* IH *Hewae:
AT A ey ﬁ
Sl 49 ' TRV CH e )
ROl AR T 8 7R
Cu2+ l%r NH40H [CU(NI‘I:;)4]SO4 "T]T’-ﬁ)fa YT
IBIRACETE
ﬁm Kq[FC(CN)ﬁ] CUz[FC(CN)G] alpllﬁl SYUFA

TNN T N IMAX ATa £ Trel =rr=— oler BT P S S
36. 100ml 0.1 Na,COz 9 BITT F9 ATV Na,CO; AR? (1 point)
[C-2.3, JU-A; : 2021-22]

® 106¢g
10.6 ¢
212 ¢
2.65¢

Explanation:
SIBwhy

37. (PG AATHIAS AfSToa AT o? (1 point)

[C-1.4,JU-A; : 2021-22]

=VS > W=106x0.1x0.1 =1.06 g

X|=

HCIO,
HCIO;
® 1ClO,

HCIO

Explanation:

SI@why| cifam ctst:

- — T ————— e B T

B e 15| 33 AT
eI +1 +3 +5 +7
HCIO HCIO, HCIO, HCIO,
et HBrO HBrO, HBrO, HBrO,
HIO HIO, HIO, HIO,

38. FITCATCY 1 mol Cu 4G GINT FATO CuSO, AT T© HIATCG {58 BIaRT (1 point)
FACO R(I?
[C-2.4, JU-A; : 2021-22]

1F



® 2F
3F
4F

Explanation:

S- Wwhy| Cu** +2¢” = Cu

QWWW-WW{GF OF faupe &t |

39 NH,* 8 PH," SN SFATIN (FH(G? (1 point)

[C-1.3, JU-Aj : 2021-22]

sp3d

Explanation:

SI@WhY] SitsR GltHa e ST Sfeie ogfe fe:
I X =1 (TS O A R + GG TR 7

2
WFW/+WF@’]>{=% [V+M-C+A]
@I, X = EC RROICTF FA0
'NPL+—>FI‘<W:%(S+4—1+O)=4=Sp3

'PH4+3RW:%(5+4—1+0)=4=Sp3

—_— A~ —~ A~ & .

40. =5 FOToa AB/FOTS JTFHITOTa TMEIITIITT (N INOIRN IIZ(F (1 point)
T

[C-1.5, JU-Ay : 2021-22]

CRICHS
QIR
TS
® 2 OhS

Explanation:



PTGl

S[@Jwhy] ¢ C;;H,0,,+H,0 > 2C¢H,,05
TS 37°C 3w BR
® 2C6H1206_>' CH3CH20H+H20
ERipa|
* CH;CH,0OH + O, - CH;COOH+H,0
L (10%) L (6%)
41 o= AN BN A 9T O TR (FATH To2 fATea it Irroes- (1 point)

i. RAAADFAT JHT0 Vg BT TF =
ii. AT I J157 AT
iii. 419 o1 Iz AT

fAtea (= Afdw?

[C-1.3, JU-Aj : 2021-22]

1,11,1111
Explanation:

[SI@why] = =l st [A @3 Gl JTea (@@ F T9] o7
= TeTl I R-
* AEILER G0 g BF G W

 FAlFaer Ifa oA |
42. fJT6a (PG RTATHTHIZA? (1 point)
[C-2.2, JU-A; : 2021-22]
PH;
H,0
® Br,
NH;

Explanation:



[S[@WhYREGTd fere A TEFGEEI: 91 ERGH @F
T @7 &S 99 9 Tnd 3ETRAHE TSI TR |
2 LAFQITIRE (TBF FHLSHIH) L
AL BIEHAZG SO,
QR JREFHEIRS BF;
ST BIRCPIHIRG AlCl,
cai%‘ms AR FeCl,
8. q=fe fAfFaraa Frena wog aafe AfFutes & erfae zta (1 point)
[C-1.4, JU-A; : 2021-22]
SRISIEZRICIGR]
SRS ICIEA]
F-A9I]9q
® IIiIT Ao

Explanation:

SI®]why| 9% TETR QST I ATIGIEA A ©UT:
ARt e
It AfFTT SeRe RENT a5 a9 8
w12 eeRe aafs fifemes go@ @49 g
{HIQF SACS faferama sife 3fa <ta
w:f@rm: ST - OIS R Bl $d
o T RGP FIETTO] I (T

4. 228 1 52% + 5z + 2 = 0 TNBATTA TR 0, 5 8, XA ap QAR FS? (1 poiny

® 52
-5/2
1
-1

[M-2.4, JU-A; : 2021-22]




Explanation:

SI®WhY] S0 = of + By + Yo
T 2% +5x* + 5% +2 =0 9T & Yof =

N

4. (1 point)

di[ln(e‘” +e )] = F9?

X

[M-1.9, JU-A; : 2021-22]

1
e +e" "

eQw

e’ +e 7

e T _ et
e’ +e 7
@ e

e’ +e 7

Explanation:

IWhy ad;i In (Cx -+ e—x) = — 1 ~ e _eX= e —e™

eX +e LY e

6. y oy 0 932 x2 + y? = 64 FTAT AANT TGO QA% CHLGd CHgwe] o (1 poiny)
a2

[M-1.10, JU-A; : 2021-22]
8
® 167

47
127

Explanation:

2 2

S[Awhy] x* + y* = 64 =>}§z+§z=64

-, GAYLET CFAT = 711 X 8% § = 64~

ST, 2R IR CFawe = 2% = | 6p

4




47. X2 + 2y? = 4 AR BATTH BB TAF FO? (1 point)

[M-2.6, JU-A; : 2021-22]

Explanation:

2 2
S[A]why| x*+ 2y* = 4 :>ox—+—L2 =1

2 (\2)

G|, e = 1——%=\l§= 1
V 2 2

-, NPT = (& 2e,0) = (& 2 X -\;—5 0) = (£1/2, 0)

48. 3 1 point
y= 2 4 2 8z + 4 AF TS N (HIN(B? (1 point)

3
[M-2.4, JU-A; : 2021-22]
® 923
92/5
16/3
16/5

Explanation:



3
S[®WhY y=x?+x2—8x+4

/l W W, )ﬂ"‘f@i -g%=0
:>%x3x2+2x—3=0:>x2+2x—8=0

=>xx+4)-2x+4)=0..x=-4,2

2 0
W,i%so A
dx X=—4 7, —6<0
wX=—4
ﬂnﬁww f—l+(—4)-—8x(-4)+4 %2
9. 2 2 = 1 WIfAFefBA BATFH RRIOA T F97 (1 point)

[M-2.4, JU-A; : 2021-22]
+1)
)

+1,0
ifo)
0, £v2)

Explanation:

|
SI®IwhY] y* —x*=1 .. e =" /1+T=\/§

-, ®o@® = (0, = be) = (0, £/2)

(0,
(
(

®0

50. 3 —
/ cos® z+/sin zdz O NN FS? (1 point)

0

[M-1.10, JU-A; : 2021-22]
® 321

1/4

9/21

5/21

Explanation:



SWhY 4fd, sin X =t .. cos x dx= dt.
When. x=0, t=0 and Whenx =  t=1

/2 3 - /2 5 -
= f‘ cos” x\/sinx dx =f cos” X \/sinx.cos xdx
0 0

1 B 1
= f (1=t xftdt = f: cos*xA/sinx.cos xdx = fo (1 - t%) \ftdt
0

Lootecl e o
fo( BAE T S3™F o 2
22

51. 3 1 point
tancos_lsincot1<z) — PO? (1 point)

[M-2.7, JU-Ay : 2021-22]

Explanation:

S[@]why] tan cos™ sin cot 'x = x

:. tan cos™' sin cot™ =%

NI

(1 point)

2. _
2 K 97 (P NN T (kgz 3) WIBHT WOfoHN w2

[M-1.1, JU-Ay : 2021-22]

® 1
3

30

3
9
1

Explanation:



5 4
(K32 9) S(K=2)x9-12=0

=9K-18-12=0 = 9K =30 =>K—]30

53. x25x+ 5= 0 TANFATTA TAZH o 8 § ZCA o + B3 I NN F©? (1 point)
[M-2.4, JU-Ay : 2021-22]
® 50
25

75
100

Explanation:

SI®wny x2—5x+5‘0&3Wa\‘3B’{CFT LatB=5

af =35; 9, o +p° =(a. + B)’ ~30P (o + p)
=5 _3x5x5= 50

54. /3 QFBTHA HRIB TN I 120° (FIT 9F(6 fIAro FrorFraorewg (1 point)
A TN F?

[M-2.8, JU-Ay : 2021-22]
® .3

43
3

2/3

Explanation:

S WhY] R = 2pcos & = 120 _ .
@ Pcosz 2 x A[3 cos === > x\]—sz-ﬁ\ﬁ

55. 1
A= (2) G338 B = (45 6) TCA AB =?
3

[M-1.1, JU-A; : 2021-22]

(410 18)

2]

® /4 5 6
8 10 12
12 15 18



OS]

1
S[@Wh] A=|2 |aRB=(4 5 6)
3

A GIYNAEI3x ] QRB UITNE ] x 3
LCAB QI M@ IR 3 x 3 A AT C (O AR |

36. cos X + secx = 2 TCA x IF NN F$O? (1 point)
[M-2.7, JU-Ay : 2021-22]
2n+1)mr,neZ
2n+1n/2,neZ
@®2nr,nez

Cn+1)n/4,ne€Z

Explanation:

SI:IWh)’ cCosxXx t+tsecxXx=2 = CcosX +L= 2

COSX

2
= cos"x+1=2cosx=cos°—2cosx+1=0
= (cosx—1)’=0=cosx=1 = x=2nm, ne z

57. QB0 TRATAL TGS y -STHA AFGOR 3 g3 (@AM 2x + 3y + 5= 0 GF (1 point)
ST | (LT TNFIT (6?2

[M-1.3, JU-Aj : 2021-22]

®3x-2y+6=0
3x-2y-5=0
3x-2y+5=0
3x+2y+13=0

Explanation:

Why qfd, cRITT AP, y=mx +¢ = y=mx + 3

{1, 2x+3y+5=0a§?ﬁr@wmmm=%

y=%x+3:>2y=3x+6:>3x—2y+6=0



o /ew T2 e SATNT?
Inje”(1 + )| + C
® Injze”| + C
e“(l+z)+C
ze® + C

Explanation:

S[G[Why] f" txe

59. YAfIV] TTO 3x - 4y + 5 = 0 AFAALE TINAY IO?

Explanation:

dx :>J- dx

= Injz|+c=In(x e*|+ ¢

(1 point)

[M-1.10, JU-A; : 2021-22]

49, xe* =z

= xe*+e*dx=dz

(1 point)

[M-1.3, JU-Ay : 2021-22]

0-0+5|_5

swnymmw=l L 2

._._=l

60. p 433 2P NIV HRB It AANG RV FaTa 933 FFenfoaswas (1 point)

95F I FAE g g s

U e

@4
8
12
16

Explanation:

wofaafew ATF| P 9T NN FO©

[M-2.8, JU-A; : 2021-22]



S[@Why|4fe, P @ 2P SR 726 It TYST @ ¢ @R A, P
9 TTaa ST O (I Ty e |

. FA[C9, tanb = 2B siflio 4 tang = — (2P + 8) sina
P + 2P cos o 2P + (2P + 8) cosa

. _2Psina _ (2P +8)sina
P+2Pcosa 2P+ (2P + 8) cos o

l _—__ 4 . p=sazw
1 +2coso P+ 8cosa

Shotcut: P €32 Q TItwg 73f0 91 o Tt feriisT @ae P 8 Q
a3 “ifFacs P’ @ Q' e fawm Farar ey aifes s wieifeafes

] ) 1
9 ==l
AITF OIR(A Q- Q
P 2P e
P-2P+8 C. P =4 gFF
61. 1 1 1 (1 point)
a b c | R IN F92

a2 —bc b2 —ca c*—ab

[M-1.1, JU-A; : 2021-22]

2

abc

® 0
a’b2c?

Explanation:



1 | 1
SI@]so") | 2 b c
a?—bc b*—ca c*—ab
0 0 l I
a’—bc—b>+ca b —ca—ci+ab ci—ab| b2 27O

= 1{(a—b) (b®* =%+ ab —ca) — (b—c) (a*— b* + ca — bc)}
=(a=-b){(b-c)(b+c)+alb-c)}-(b-c){(a—Db)(a+b)+c(a—b)}
=(a-b)(b-c)(a+b+c)—(a-b)(b-c)(a+b+c)=0

ASPECTS SUPER TRICKS:
T Element STeTl 5ERICT IR

[a > a’ - bc; b — b%—ca; ¢ > ¢ —ab]

" Element ST 5ErSITa S0 ©1% [effacea i =47 |

@'a=l,b=2,c:3w
1 1 1
a b C

2
a’—bc b*—ca c*—ab

62. 2x2 - 7x + k = 0 AN HANCT AF(B Y 3 T(A k 99 N FS?

[M-2.4, JU-A; : 2021-22]

@3

Explanation:

SIOIwhY] amg T3 - 2x32-7x3+K=0
=18-21+K=0 - K=3

03. di (sin \/E) =Pp9?

T

[M-1.9, JU-A; : 2021-22]

CoS /T

cos\/x
2z
® cos\z
2/

—cosS+/T

Explanation:

(1 point)

(1 point)



. 1 cos \/x
S‘T?Vhy dxsm\ﬁ:)cosxf;cx - x:> e

- 1 wfigefon SsrafuTor o (1 point)

[M-2.6, JU-A; : 2021-22]

64 y2 :1;2
64 36

® 5/4
4/5

oooo§|
oo

/28

Explanation:

- B '
7 2Y. X ey 6" - [64+36 10 5
ST sol'] 2 1 5 i g

N |

65. 2x + 3y + 4 = 0 (AYTA BAT AT 932 (3,-2) [TV FATALA FNFFT (1 point)
fAtea @i

[M-1.3, JU-A; : 2021-22]

2x +3y+13=0
2x-3y—12=0
3x-2y+4=0
®3x-2y-13=0

Explanation:

S.WI;Y 2x+3y+4=0 ﬂ?ﬁ?@‘ﬁ_gx—*l’-y;l(-:O
qA(3,-2) RpmE - 3x3-2(=2)+K=0
>K=-13 . Aqead=3x-2y—13=0

66. "SIBTAICA’ (PN YTV AATH? (1 point)
[JU-AI :2021-22]

® 3R
VEINIC)E|

TN FY
CREIEE]

Explanation:



SIOIWhy] TG RE-I 2=EE $AgE-IaqR |

67. 'Souvenir' *ITHF ANTOITS *1FK (G2 (1 point)

[JU-Ay : 2021-22]

RIGE

SO
® 356

NP

Explanation:

:SI:]WhYI Sauvenir- "M9%; Wall Magazine- (A¥IfE@T; Draft-
J7%T; Medal-*M< |

68. fNTHA (FIG FTAr2(F 127 72 (1 point)

[JU-Ay : 2021-22]

2TATY
E(BIC

® (st
WRRAE

Explanation:

SI@Wh] awm, cirgEr, JTRR- S| SeEfe, wREE- wd
a1

69. '"Why are you doing this?' — Change it into passive voice. (1 point)
[JU-A; : 2021-22]
Why this is done by you?
Why is this done by you?
@ Why is this being done by you?

By whom is this done?

Explanation:



SI:IWhYI Wh Questioln-‘i@Active interrogative sentence (&

passive ¥90® Wh Question + tense @ Person W@ Auxiliary
verb + object (& subject + being (Sentence 5 Continuous tense

ZCE) + V3 + Preposition + Subject (& Object.

70. Find the pair which has some relationship 'program : software'. (1 point)

[JU-Ay : 2021-22]

Pointer:network
Pointer:Cursor
Pointer:Monitor

@ Pointer:Mouse

Explanation:

[SI®]WhY| Program computer 99 f&OR software (& b1l
FF 1 Option D 93 3TN THT Same relationship TR |

71. Chosse the correct preposition in the following sentence - (1 point)

I agree your suggestions.

[JU-Ay : 2021-22]

at
® On
to

About

Explanation:

:WhY Agree On— (FIq faacy qife 2ed |

72. (1 fGfGBre MFTBT 2B 8 WSBB F LI AN? (1 point)

[JU-Ay : 2021-22]

EIICROG|
st
ESZWE

® =z WO

Explanation:



SIOIWhY] 72 5 @it 307 & (T AAAS I9A! IR0 W OfF
T e I | LT ICER gL 2490 8 qiv Weoep AT |
WICG4G 7oa 4y a3fo @I St Wi |

73. (3D.C6)+(506.47)g =2 (1 point)
[JU-Ay : 2021-22]
(184.62)g

(184.60) 6

@ (184.62)4

(182.62)g
Explanation:
SI@IWhY| 74 G3GT AZARTS FARCT S0 @ 3fe:-
3D.C6 — 111101.11000110
506.47 — 101000110.10011100

110000100.01100010
218 @rrEace Hexadecimal- @ RATS:-
0001 1000 0100 0110 0010

P 0 e e
1 8 4 6 2

—_ -

74. BTARTAD NG BRY FO? (1 point)

[JU-Ay : 2021-22]

0.7Mbps
0.2Mbps
0.3Mbps
® 0.5Mbps

Explanation:
SI®Iwhy| @i = (Volf’), oS Jrefee, Gk Mefe, 2-a3
47 SR 0.5 Mbps |

- _—

75. 5fB 2oyE fIFIE fOTaTOnNag SIS <E Az~ 62 (1 point)

[JU-A; : 2021-22]



16
® 3
64

Explanation:

‘é@wm’ RorIer @@ FTT AR IS T BB Fbem
Q@I (@ISE WrEd @IET TG woffefae aed | feraeies

UG T n TE HO6T 2" FA |

76. BfJ Optimization IFICS FATEA (FIRFG JATT A2 (1 point)
[JU-Ay : 2021-22]
@ IATIAMGINIT WL YR CFel

PIRE ARG (Y6 I
BYVS N ATISN N BTl

Qﬁ'ﬁs Compress Pl

Explanation:

ST WhY| 2R SBEET T0ET RRGTEAS (@F5! T (RIETE
fide o afFt | @ efarn '@ gese wF AR FF F
AT D DL TR AP (RG PCA |

77. ABC + ABC + A 43 TAAN AT TCAT- (1 point)
[JU-A; : 2021-22]

A+B+C

B+C

A+C
®1iC

Explanation:

SI®Iwhy| ABC + ABC + A

=AC(B+§)+E=AC+K[B+§=1]=E+AC

=(A+A)(A+C)['."A+BC=(A+B)(A+C)
=1.(A+C)=A+C_

78. <ol Type="i"> A2 GCINIF BN AT fF yaa NS e &8 (1 point)
8T (HRTTT AN FATTH?



[JU-Ay : 2021-22]

LILIII
a,b,c
1,2,3

® (G2 W

Explanation:

<ol type = “a” > G MGG a, b, c...
<ol type = “A” > @q WE59F A, B, C,..
<ol type = “i”. > G SHC60 i, ii, iii, ..
<ol type = “I” > @q S50 I, II, 111, ..

79. STRIAA IRV & SMFHNT 43¢ NfH3 97 Wy F= =TA1- (1 point)
[JU-A; : 2021-22]
@ FOoR fNTFY (v
NS T (NS

Oy §fF A1
SR AfRTIS B3 Y7 el

Explanation:

SIOIW Y] +RS5r formaet e sz Srawcers et sl
O] YT D (T T |

Part-B: Extra Syllabus

80. 40kg & 60kg GTA Tf6 I/ TATGHTN10ms ' B5ms ! (AT NI fINQ® (1 poiny)
s (ATF S AT ATF WAASE LTI et | ATH/T AT IZRFY 930
TF A FO (JT5 A2

[P-2.4, JU-Ay : 2021-22]

® 1ms!

Explanation:



SIGIWhY| STt STegwet @i, mou; + myu, = (m, + my)v
mu; —mou, _40x 10—-60x5 [ uy = +ve

m; + m, 100 U, = —ve
5. V=I1ms"

= V=




JU-A : 2021-22(Set-M)

Part-A : Short Syllabus

L. ST5N TN 4.7x10'5Hz 4TSF ATTS 1000 A NTAT NAS© ZT- (1 point)
[P-2.8, JU-Ay; : 2021-22]
ARG NS =@
® AFEA NS @A
REPEN BN IS I
A EN TONEF Sifors 9@ =

Explanation:

SI@IWhY] 7 FRF: 2TOIF 4Ipd CF@ q(6 Pou
IR qA G N SRS A0 68 (9 (A e (7910
IACS A A | G Ao IHEH 98 {IPF o T I |
PETTS: (P AIST ofF TS T @ g FETA S e
Topg *If&a YIGH, OIS 93 4gd ICATS 0 |

WQ':hUo ::’b'g:hl.)o

Ao
C LC3440" -8
S A =—= =638 x 10°m =638 A
L Vo 4.73‘(10]5

@3 (o7 AT ARE oIy 638A 1 (WP Wfe® Wea
TR 10004, SRS SIRWAY SWNF (@ O3 Sefee S
{IOTe ST SfeR forar avfs S0 =1 )

2. TIUIRAT R TAF I3 ISR TRY EAYE 8 WSG9 TATHIN- (1 point)
[P-2.10, JU-Ap; : 2021-22]
®y. 8V,
Vee 8 Vi
Vee 8 Vee
(PO T

Explanation:



SIAWhy| e {5319 (common

i IB n—p—n _‘IC
emitter, CE): _y
Input voltage: V.
Output voltage: V., L Yie .,
vbc Vm
3.1 MW NN §9? (1 point)

[P-1.1, JU-Apy : 2021-22]
100 W

10° J/s
1000 kW

@ ST

Explanation:

SI®IWhY] IMW = 10%w = 10° Js™ = 10® kw = 1000 kw

4. 11001.011 IRNMF A LNfE WIfITE F© T2 (1 point)
[P-2.10, JU-AM :2021-22]

13.375
13.875
® 25375
24.875

Explanation:

S@Why

1 L. 0% 80 1 0.011

19 3 A2y IR IR R e
25

=0+0.2540.125 =0.375
(11001.011), =(25.375),0

—_— A T

. PN - - R N SN 1 point
4 =2 —j+3k8dWB =i —-2j -4k A 8B NWWW?{HW (1 point)
P Cw%ﬁ FO?
[P-1.2, JU-Ay; : 2021-22]
- 1
56  5v6° /6

2 . 11 A,+ 1 -
JR— /l_
56 546° | /6




2 A,_’_ 11 A,+ 1
1
56 5460 | /6

(FNIB2 N

Explanation:

SIO W] T «a co5a = -2 X B

| A x B|
S | P ; ,
AxB =12 -1 3|=i4-6)-j(-8-3)+k(4+1)
1 2 4

=21 +11j + 5k

~ JAx B|=1/(=2)* + (11)* + 5*=[150 = 5\!3

A 11 A
-, TR TF (BT = — —= | +—] 2
51/6 5\/8 5\/6
O 2 (ol ™ |
56 56 \/'6
6. GFHf6 PG (AATHF IF ATS WY ATCS CTTO ST AT (1 point)

[P-1.8, JU-Ayy : 2021-22]

0.5s
® s

2s
1.8s

Explanation:

SIEIWW] Ges @as 5 @i, T = 2sec

T TS (AE T AT @O @ T 7o FH G2 TS 1 sec
A At |

7. (PN S WA ©Of G TSN (FIN FT9Y I ffero aretarg (1 point)
Aornfifes e ==y T

[P-2.3, JU-Ayp : 2021-22]
CERE R
FHHT TG
QRGNS d



@ (FIG2 W

Explanation:

Eséjxvhy'$ﬁ%ﬁQWﬁrq;:“Gﬂﬁtﬁ%@?ﬁﬁﬁaSRGWﬁﬁ$ﬁa§ﬁﬁ%@
2R erifafos T2 *=y 1"
IS ST AT SIS 3@ 1 =7 |

8. (PG oy T2 (1 point)
[P-1.2, JU-Ay; : 2021-22]

kxk=0
®;: . i—;
kxi=]
kxj=k
Explanation:
S{(BWhY
ey j‘ -k §xi=—k [ C]o.ck Wise = (—)ve]
T (N R [Anti Clock Wise = (+) ve]
Jx K=, kxj=-=i
kxi=j, i x k=]

9. 1km OHTS WIS AFHB fINN 2T 5005 STAT 9F(C (@AW CHTA (RS (1 point)
T | G =or 319 4 TZTS a7 fonfe Fo7

[P-1.5, JU-Ay; : 2021-22]

® 4900
9800 J
8007
900J

Explanation:

SIAWhY] T = T3/ 77 T© 97 feifE
©a+{& = mgh = 0.5 x 9.8 x 1000 = 4900 J

10. 10°C STNTHIA Skg STST AN (F 32°C STHNTATT ORS FACH ANZIHF (1 point)
HAfFISEN (TN =2
[P-2.1, JU-Ayy : 2021-22]

® s 9



S RIS
ST TR
NS O BB TSI A

Explanation:

=£]9 = IZ: @:4. -1
[SI®WhY] ds = mslnTI 5% 4200 x In 22 =+2327.63 )k

TodqT:, GG ST AT |

1. ST ST (ATE JB6 T (AT SFST=oIR IFA fF AfFr sqgorzea (1 point)
a9 sifoxrfes @\‘BW\-) & AN RTJ?

<y/(3)
L4
V3
® 4
V2
(PGS N

[P-1.8, JU-Ayy : 2021-22]

Explanation:

1 2 o 1D
S[@WhY] E(=E, = Zk(A"-x) =7k«

2
= AZ=x2+x* o A?=2x* :>x2=—A2— .'.X"—'i'\%

12. (PN OACHT FNF SAT I G *1S ST FAT T (T FAF (T (1 point)
a6 AT it a1 ota g 4t ot 12 AfF s fF It

[P-2.7, JU-Ayy : 2021-22]
® SEw
AT
ARSI
ffoper

Explanation:

SIBIWhY] FEE: ST TR B AW @ =G e
0 @ I (@ Ii6 e e 9 o Fukm AE ©E GiR
of TS SIS 0 |

13. SV STPMATAT 8 BITHY 1 (XS ST 43S SIS I NN F©? (1 point)



[P-1.10, JU-Ap; : 2021-22]

® 568 x 105 m
2.68 x 10> m™
2.01 x 10'® m™
1x10*°m3

Explanation:

SI@wny| | G e e 22.4 L A7 22.4 x 107°m’
S et = 6.02 x 107

_6.02x 10”
224 x107

S IL A1 x 107°m’ =9 72 =2.68 x 10*m™

14. SrLATIART AfTS M-I (FRB? (1 point)

[P-2.10, JU-Ap; : 2021-22]

n BIRTH (TVT & p BIRCH R(APGA
® |, BT30f (ARG p BIRCH (XA

n BI2H & p DI BOlAR 2TPEN

n BIRC™ 8 p IR GoNR 24

Explanation:

SI@IWhY] Rea S€ARRIRITS ST RAF @F GR TEARGT A |
& p-type 4 Af9D IRF - @
n-type ” " " . W

15. onfag tqy fI~a ©org fefg Fta o [T orowrar 92 (1 point)
[P-2.1, JU-Ay; : 2021-22]

373K
® 372.15K

273.15K

273K

Explanation:

SIEWh] i taxfiqe B+w 5% v 7w 77 273.15 K @z
ﬁﬂﬁ“{ﬁlls Ki

16. Y& TRIHITOAF FIANOIF W T2 (1 point)

[P-1.10, JU-Ay, : 2021-22]



@5
3
0

(PGS

Explanation:

SI@WhY| & Fimitew e @ [uwm Hy, ¢ 30 [
faofmEfes ATRT 18 Wg TRIwe” T@l S |

17. fAtea (@6 FRfored I$Na aiifaa s = (1 point)

[P-2.10, JU-Ay, : 2021-22]

SR {975 T

SR (NG [T

SR SR AR f[T97
@ S FICATG [T

S. WhY| QPO chifere [T ib:

i, e g 7T (Common Base)

ii, A4 e 95T (Common Emiter)
ifi, A4 F@zd 7™ (Common Collector)

18. 1 KW $NOIT IO 2AD{S (Fofare a1 1 fFra “nfx s RS (1 point)
giﬁ NoFITA a9F2 AT 21N Tore 1 NS T @ rams
© (FOfFTS T Ol T B¢ AN TH-

[P-2.3, JU-Ay; : 2021-22]

3.6 x10°J

3.0x10°J
® 36KJ

3.0KJ

Explanation:

[SIDIWhY] ToaitT @oAITs Ty ©iv,
H =msAB=P xt

= 1000 x 6 x 60 [t=6 min]
=3.6x10°J




19. 9y 90 TaTsy B2f6 fTa WUt VY 217 34 T, fI=pgra Wryy (1 point)
TN AT HT F©2

[P-2.7, JU-Ay; : 2021-22]

2/3n
2n/3
® 312
32n

Explanation:

| g (2K 9. 3h3E
SC]Whys lex lx4 G

20. SfG] TTIIT O ©F WIHIAF? (1 point)

[P-2.7, JU-Aypy : 2021-22]

AMRCHTE
foo

® TEoIR
TSI

21. 30° C STANTATY 120cm® SIHOA ATCH 416 AT ST 120 KPa B9 §MI (1 point)
FE | 9F2 OITNATT SHTS MIATE 100cm* ST IFI6 T

HNIG TS T4 A A G519 F© I ?
[C-2.1, JU-Ayp; ¢ 2021-22]
140KPa
14.4KPa
@ [44KPa
1.44KPa
Explanation:
SI@wnwy]| p,v, =P,V, Vi=120cm’=0.120 L
_P,V, _120%0.120 P, =120 KPa
S == 144KPa | |/
V, 0.1 Y1 V,=100em*=0.1L
Pz =19
22. 0.001M NaOH BT pH I TN FS ? (1 point)

[C-1.4, JU-Ayp, : 2021-22]

11
12



® 3
14

Explanation:

[SI@Why| * pOH = - log (0.001) = 3

*pH=14-3=11

e

23. A2 *rOIANH fNTea (@1 MG INfore Tre WigF STUT AT 2 (1 point)
[C-2.1, JU-AM :2021-22]

SO;

CO>
® HCl

NH;

Explanation:

S[@why] r aﬁ

9T O Q@M WA AN @ I | AR_RE RS ©F I 0
[T /G @1 SO, (64) 99 ST Q¥ ST AT =T I weffe
TItore e SEF TN TP |

24. (FPTOFIONT TINS (AT (ATH T5H1 FLA ATTAT (TN GATAIN 2 (1 point)
[C-2.2, JU-Ay; ¢ 2021-22]
® wirarery s
ISRIRE!
confos
YN #9

Explanation:

STQIWhY| S rersy <mrd @1 i sfve @i (T T 0 |

25. P 950 (@R I [{AGFT WT 2 (1 point)

[C-2.2, JU-Ayp; ¢ 2021-22]

BAPCRIPIETS ALTION
@ (N OFafHEs AT



ARG P AfSFN

o

fRoiFsfeas Afog

Explanation:

SI@why| afsgrem R 12 aot=:

o IETRGEESE ATSAT: AT @ (@ @ 420 [Riewst @y |

» fefpsfEfee afSgem: Sy!, Sy?, 3° RX, 1°RX, S0,
A, TG 8 Y9 WeFTYR 9 Q4 [ @7 |

26. FTRTYITON BLAT WIZ A 21 (AT- (1 point)

[C-2.1, JU-Ayp; : 2021-22]

85-200km

200-1100 km

1100-3500 km
® 3500-10000km

Explanation:

SI@IWhYRRNEE @ e IF [(foq TAmmeted  Sei
NS RS AE 9 ©ie [KINes I | IE SARMIET (O ¢
IS (T ©oF fofE T @ TETE 717 5 B ol 1 I |
i AAIRE MRGTS B4: 100 km-200 km #1%@ |

ii. e SfHE™ B 200 km-1100 km 214 & |

iii. R ®4: 1100 km-3500 km *I¥< |

iv. RIRGITET B9 3500 km-65000 km *14% |

27. fRfA% STNTATT 750 mL S=°0& BT 200g NaCl Hahg® Wty | AfS f&erg (1 point)
ST=%& AT NaCl 49 AI79l $9?

[C-1.2, JU-Ay; : 2021-22]
4.66 mol/L
@® 4.56 mol/L

5.66 mol/L
5.56 mol/L

Explanation:



SI@Iwhy] arret (s) = E(ﬁmﬁ A @;{:ﬁ

— 2_00. = —
075 266.67 g/LL = 4.56 mol/L

28. onfaa faegoa v 97 Sty JfEE- (1 point)
i. DO
ii. BOD
iii. pH
fRtex (it wfds?
[C-2.1, JU-Ay, ¢ 2021-22]
191l
it @ iii
i @ iii
®iiaii

Explanation:

SI®why| «iife Remerm T« e TR E:
* DO * BOD * pH

29. AT FIINA 99 FATF© (FB? (1 point)
[C-2.2, JU-Ay, ¢ 2021-22]
CH;-OH
@® CH,CH,-OH
CH;CH(OH)CH,

(CH;);C-OH

Explanation:

SIGWw] 1 @S e e =@M ~CH,—OH | w1% firaize
e @9 JALd® CH;—~CH,—OH |

30. CTHQ ANV ©F FLUI A FNGIF TR 47 92 fFF Arawrafaas sy (! point)
ICE RS AT [T R L [ A T O [ 1

[C-2.2, JU-Ay; : 2021-22]
SIRCATCOTN
® QAR



(FING2

Explanation:

SIBIWhY] @ SR “REIE ©F Ay 1 [NEfmm 7wy «3s g

RN 5727 S SIARTE 21EF RGN 0 |
31 (FHIB F I TIS VA2 (1 point)
[C-2.1, JU-Ay, : 2021-22]
HNO;
® H,S
H,S0,
NO,
Explanation:
SIBIwhY] &RA[ ¢ CrFeRt 1w
e ik
Wﬁf ﬁﬁtam ﬁm o TR 7ECF TS 0T 739 WO
gfeedl, =2, (4R, SO,, CO,, | SO5, NO,, H,SO,, N,Os,
CO, NH,, H,S, R3tgied | HNO; 3™, PANs

32. (@MW AfFHC BN (TSR [RONLTT Gy 73210 AT T (1 point)
[C-1.2, JU-Ayp, : 2021-22]
Ao«
A HF Ao
® TR
EAATON
Explanation:
S[@Why|+iw o fRemaar @@ mw, S e @ e, S,
TN T | LG oMo O+ I Reeiees 77 2 |
33. TITAGRIRG 8 fHRTBITNE LT AT N 2ITTa Oy 3137 TH- (1 point)
i Bt f3@as

ii. 2,4-DNPH

iii. Cpfe1e BT



fAtea (= sIfds?
[C-2.2, JU-Ay; : 2021-22]
i 8 ii
i @ iii
®; 3iii
i, ii @ ii
Explanation:

S[@WhY] wma siEfbese Jreee sk @rzfee gad @ Seaw
feotarea e f&fema <0a | fow fom ffes s =

g CH3—CH0+2[Ag(NH3)2]0HWA°C> 2Agl+CH,COONH,+3NH;+H,0
st

e CH,~CHO+2Cu(OH),+NE0H-25 CH,COON +Cu,04+H,0
e

34 Na™ ST *NIGFACT (FA6 VIS TH? (1 point)
[C-1.2, JU-Ay, : 2021-22]
K,CrOg
® K,H,Sb,0;
K,Sb,0-

PbCrO,

Explanation:

SIGIWhY] NaCl+K,H,8b,0; —> Na,H,Sb,074 + KCl
oI STt ST
M IEISIEHIRTIRNGIT

35. 10% Na,CO; BT (AT TNl R1I- (1 point)
[C-2.3, JU-Ayp; : 2021-22]

10 mol/L
® 0.9434 M

9.434 M

047M

Explanation:

%x10 _ 10x10 .
.Why S = = = 0.9434
S ' M 106 y




36. (PO AT P OIED 5T 97 AITFO? (1 point)

[C-1.3, JU-Ay, : 2021-22]

H,S0,
H,S,0;
H,S,04
® 15,04
Explanation:
SI®]Why] e c:
e
] H,S @IS ATFIRT
+3 H,S,0;4 QRS Wbie
+4 H,S0; SEReeam uite
+6 H,SO, AERFee Qb
+2 H,S,0, YA F TG
+7 H,S,0; AERrG e GfTe
+6 H,S,0; ARCIPERPE AP G

37. 1 mol Ag BITTATCY GTNT FATS AgNO; HITT T BIANG [P GraA~r (1 point)
FACO Z(J?

[C-2.4, JU-Ayp; : 2021-22]
® IF
2F

3F
4F

Explanation:

[SIQ]WhY] Ag" +¢ > Ag .. Q=exnxF=1x1F=1F

38. fNTHA (PN CTNTBF TN WS TQBADIT T2 (1 point)

[C-1.3, JU-Ay; : 2021-22]
ccly

NH,"



CH,

® Sr,

Explanation:

S[@®]why
¢ CCly - sp® > bo@aIy
* NH," — sp’— voued

39. fNTea (TG HEToN 9fSig?

HMnO,
H,S0,
HCIO,

® HNO,

Explanation:

* SF, — sp°d — 2% (see saw)
e CH,— sp’ — 59T

(1 point)

[C-1.4, JU-Ay, : 2021-22]

SI@why| @ aftes @R Gt g TN AQ0E 9 (12

GG IO GHeT T | IS @feetEd Tt HNO,; 75 «fie |
FRA 99 TR CEUER TS N S @PEE R (e

A A G N |

40. NH3BF; CCoY fAf SR 2@ Stey Igh ™Iy - (1 point)

| SIS
i, TCIrGt
iii. ANTITIFN
fAtea (@R A5

i 8 ii

® i Qiii
i @ iii
i, il @ i

Explanation:

[C-1.3, JU-Ayp; : 2021-22]



S[®]WhY] NH,BF; 2t Siesifaa RIS @ie=:

N Lk
i l'(Jr\;rlq—H 3] [ et (L

R
(R (R z &

affTe) )
NH;BF; @t {4y #a197 Tty ANE@E! @ Afgras 9 =g |
4. (PG WA SaAfF=? (1 point)
[C-2.2, JU-Ayp; : 2021-22]
CH,=CH,

CH;-CH=CH-CH;
® CH,-CH-CH,
CICH=CHCI

Explanation:

S[@]WhY|Seifs ST fHawa 52 < Spi el S AT |

42. gfn oreras 8 RAfF T 92 WY AT O oS F Ita? (1 point)
[C-1.4, JU-Ay, : 2021-22]

® TG AORF
TN G AGRB
FI-AORP
T HORS

Explanation:

SIBWhy| 3 2e@s ¢ [feTs 9T W A O BT FTg
OIS qe |

4. 25 3x -5 = 0 TNFACTA TASFT 0, f 8 v TCA, S0 = (1 point)
[M-2.4, JU-Ap; : 2021-22]

5/2

3/2
® .32

-5/2

Explanation:



S[@why 2x3—3x—5=0“9jcc‘-rzag=§=_—2§.

Mol = (1 point)

[M-1.9, JU-Ap; : 2021-22]

Explanation:

SWhy ie x:‘»e\ﬁx ! =

. ‘g—i - g—; - 1 WYFe o7 AT 52 o7 Iy T2 (1 point)

[M-2.6, JU-Ay; : 2021-22]

(£6,0)
(£8,0)
(0,£8)
® (0,+6)

Explanation:

a B \.—v, v/ —_— \ 7 ,

2 2 2
e e
SIOIwY] & - 35 =1 = g2

2

. MF (0, £ 6)

O\IJK

46. (1 point)

3
y= "+ 0" 8z + 4 THIRAA x=5/2 & WS =P F7 o1 T

[M-1.9, JU-Ay; : 2021-22]

109/24

-109/24
® 13/4

4

Explanation:



3
S[@whY y=1‘3—+x2—8x+4

Ei-X=:»<12+2><—8

dx

2Dy 20 13
mdx 4 S i 4

(1 point)

2 2
I 1Bl S Rt AR T
[M-2.6, JU-Ay; : 2021-22]

(0,£5)

(£5,0)

(V7,0
® (0,+V7)

Explanation:

S‘Why -9—+L_1 \/ £

. B@m = (0, + 4 x 54£)= (0, i\ﬁ)

48. /1 —cos2xr ., (1 point)
1+ cos2z

[M-1.10, JU-Ayy : 2021-22]
In|1 4 cos2z| + C
x —tanz + C
sec’z + C
®tonz 2+ C

Explanation:

SO

1 + cos2x

2sin’x sin’x _f 2 R 2 ]
= md fmdx tanxdx—f(secx—l)dx

= fanx—x+¢



49, 1 1 1 point
9 tan<t3n1<§> —|—tan1<§>> _ 5 (1 point)

[M-2.7, JU-Ap; : 2021-22]
/4
LB
5/6
/2

Explanation:

S . WhY tan(tan" % + tan™ l)

= tan (tan”

50. 1 2 3 12 (1 point)
= 9 — = ‘)
A= {3 4] dRAB = lll ] R(A,B="7

[M-1.1, JU-Ay; : 2021-22]

12 —3]
114 -1

5 —1}

0 6

@5 0}
| —1 6

(FING2 VT

Explanation:

1
S[@why] A = (,, 2) 4@ AR = (131 ;ﬁ)

7 3
'Qlﬂ 1 -1
2 241 (4 —)(3 12)
H 4=g3—=3 1J/N11:24
7 11 24

5. x2- 5x + ¢ = 0 ANBATIX 9FH(6 Yo 4 TCA ¢ 99 TN FS? (1 point)




[M-2.4, JU-Ap; : 2021-22]

Explanation:
SIOWWY] ctzg @B 4 - 42— 5x4+c=0=c=4

52. Xll 2} ; (1 point)

[M-1.1, JU-Ay; : 2021-22]

S[@why xG i)=(5 6)
LU, x @I @1 x2 o x=[a b]
1 4
(a b)(3 2)=(5 6)=>(a+3b 2a+4b)=(5 6)

oo a -+ R AL /28 540 /08,8 (11)
(1)@ a=5-3b; (i1) R9,2(5—-3b)+4b=6
= 10=6b+4b=6 =>Db=2 . a=-T .. X=(-1 2)

3) 0 (1 point)
—],a="7

[M-2.7, JU-Ap; : 2021-22]

® 35
5/3
3/4
4/3

Explanation:



a a
s 13 a 3
=tan” ——==tan"'3 = =2 6
o * g * 1°-a
2
a _9 R Nt i (e |
= T 16::»163 9-%9a°=a 5 - a 5

Shortcut; tan™ 3 - sin”! ST .~
TN

54. P06 AAATTL FED y- WTHA AGOI* 5 493 @AMV 2x + 3y + 5=0 G (1 point)
ST | (LT TNFIT (B2

[M-1.3, JU-Ayy : 2021-22]

W3x-2y+10=0
3x-2y-10=0

W3x-2y+10=0
3x+2y+20=0

Explanation:

S@,wm’ Wﬁfﬁmﬁﬁﬁﬁy=mx+c SLy=mx+S5

W[, 2X + 3y + 5 = 0 49 T (S Ol =%

y=%x+5:>2y=3x+10 S 3%—2y +10=0

55. (' coszdzx p (1 point)

o /14 sin’z

[M-1.10, JU-Ay; : 2021-22]

/2
/8
/4
n*/16
® Blank

Explanation:



SIS Why cosx dx [« sinx = t .. cosx dx = dt]

‘\/1 + sin’x
0 1 0

i J‘ d(_:[ll'lt'l'\f]"l'tz‘] =|:|n
P 14¢2 1

36. (x,0) ﬁq (Y (0,2) 4R (0,1) WW@W x 9 VN $9? (1 point)

[M-1.3, JU-Ap; : 2021-22]

sinx+\/1+sinzx

170
[-o
1

Explanation:

SIEIWhY] (x,0) Z® (0,2) @7 779 = X"+ 4
(x,0) *C9 (6,4) 9999 = -\/(x_ﬁ)z + 16
ST, VX +4=\/&‘—6)2+16 =12x=48 .. x=4

57. /1 T, (1 point)
o 1+az*

[M-1.10, JU-Ay; : 2021-22]
21/3
/3
/4
® /8

Explanation:

§:['%‘G)]Soz fmdx fT(;r)zdx

XK=z 2xdx=dz@Rx=0Tz=08x=1Tz=1

L2 10 da Lo
f1+(x dx =7 S 2 g 2 0

- ol | BN Tt
=§[tan"l (1)—tan ’ (0)]=§xz-—0="8'

58. [_43 i] ﬁﬁ@m@@ﬁfﬁ DG (1 point)



[M-1.1, JU-Ay; : 2021-22]

Explanation:
) - s F RS 1| |:2 —3] |:——.'2 3]
s A=[5 3] =22 2=[3 2

59. x2 - 4x +3 = 0 TNPATIT TGN a 8 p TCA, a - f =2 (1 point)
[M-2.4, JU-Apq : 2021-22]

Explanation:

SWhY x2_4x+3=0 a_B___\Ib —4ac :)'\[:l=2

a

60. di(\/cos 2:c) =7 (1 point)
x

[M-1.9, JU-Ay; : 2021-22]

® —sin2z
v/ cos 2z

cos 2x
v/ cos 2z

2sin 2z
\/ tanzx

tan 2z
\/sin 2z

Explanation:



SIO sor'] 47, y = \[cos 2x

::11 = —sin 2X).2 =
X 2\/ COS 2\: \fcos 2X
61. y2 _8x -6y-23 = 0 NAIILS A VNI LT FAE F9? (1 point)
[M-2.6, JU-Ay; : 2021-22]
® (23

(-4.3)

(0.3)

(-6.3)
Explanation:

SI®IWhY] y> - 8x — 6y —23 = 0

=y’ =23y +3%=8x+23+9 = (y—3)*=8x + 32
:>(y—3)2=8(x+4):>(y—3)2=42(x+4)
@W(XY)-(aO) X+ 4 - )

yas o (6y)=(=2, 3)
62. 3y = 4(x-3) 32 3y = 4(x-1) (FATZTHA VLTSI 15 HAY F97? (1 point)
[M-1.3, JU-Ap; : 2021-22]
® 3/5
16/5
8/25
16/25
Explanation:

SIOWhY] 3y =4 (x-3)
:>3y=4xf12 4x—3y-—12=0...(i)
Jy=4(x-1)=>3y=4x—-4 . 4x—-3y—-4=0.... (i)

c.(1) e (i) 97 TS Y = |‘12+4 =.f§

63. ' Inspection ' *TTHJ AT *13 (R 2 (1 point)
[JU-Ap; = 2021-22]

IBEIR3



B
® i
IREi !

Explanation:

S[®]whY|Inspection-Afw i ; Audit-  far=; Observing/
observation-fAar= |

64. RIS ' (TN LTS ST 2 (1 point)
[JU-Ap; : 2021-22]
LEIHIC)E
® ooy
ERGIER]
I23MR

Explanation:

S[@Iwhy|arem T e T |

65. fNTRA (FINIC AL *137 VA 2 (1 point)
[JU-Ay, : 2021-22]
AT
oef
©® ooy
ot

Explanation:

SI@IW hy|e-SiReTw, 77 | S, Wik, =i, GTAfRar o R |

66. 'Let him do the sum' - Change it into passive voice. (1 point)
[JU-Ay; : 2021-22]
Let the sum done
Let the sum be done

@ Lct the sum be done by him

Let the sum being done by him

Explanation:



S[@]why] Let + W& object I& Active Sentence &
Passive $90® (23 e S Sare < |
Let + object (F Subject+be+V;+prepositiont+ Subject (& object.

67. Find the pair which has same relationship of "New Zealand : Australia". (1 point)
[JU-Ap; : 2021-22]
Sri Lanka : China
@® Sri Lanka : India

Sri Lanka : Bangladesh

Sri Lanka : Malaysia

Explanation:

SI@WhY] NewZeland STEfm wfird-snd sHEe af6 2@ |
Srilanka ©1HTeT w4 G0 IR W F |

68. Choose the correct preposition in the following sentence- Sixty miles  an hour. (1 point)
[JU-Ay; : 2021-22]
of
in
at

@ 1o preposition

Explanation:

S WhY| an hour @3 TSl prepositic;n PE T |

69. GO ZTH TG (AITHIAF N 1 ICO- (1 point)

iiA=0,B=1
ii.A=1,B=1
ii. A=1,B=0

fAtea Mo 5f5s?
[JU-Ay; : 2021-22]
i 8ii
ii @ iii
® ; 3iii
i, ii @ i

Explanation:



S(@®]wny

70. (6E.59A), = ? (1 point)
[JU-App < 2021-22]
o (110.35009765625)
( 111.35009765625 )

(110.3),,

(101.35),

Explanation:

SIOWhy|(6E59A)5=6x16'+14x 16°+5x 16™ +9x 167 +10x 16~
= (110.35009765625) 16

71. @THY FIOMG1E G G ATAGIRIT VTG O3 Y FO2 (1 point)
[JU-AM :2021-22]

2.44 Mbps

1 Mbps

1.44 Mbps
® 2 Mbps

Explanation:

SI@Why| 9T FEH GIF (1% &AW 3 Mbps 947 IR |

72. (T IS ASCI YIS n T ANII FEONS ___ A (1 point)
[JU-App < 2021-22]
L ACICIIES
IR
RRICROE|
fas1

Explanation:

SIBIWhY] @ISR ASCII FITE n 0 FABI 0 OIS I <6 |




73. fRTeq (@B JEF A3, Google 9O - (1 point)

[JU-Ay; : 2021-22]

Rendering Engine
Online Software
@® Web Crawler

Browser

Explanation:

SWhy Google @b yfery A6 36w, @Brs Web-Crawler
TEGT IS 2 |

4. A+ B + AB Q9 AANBAYT XCAI- (1 point)

[JU-Apy : 2021-22]

NI
w o

A+ B
® A AB

Explanation:

SI®IWhY] A +B+ AB=AB+AB = A.BAB
= (A+B).(A+B)= AA+AB+AB+BB = AB+AB

75. HTML (TG JIIRMCA <justified> tag {6 fF FTor IIIq@ FATIN 2 (1 point)

[JU-Apy : 2021-22]

(GO *IHI I [NGel AT

® RHNTR MG ST FH (GHG QAR AT
(CHOQTENP R [[RIIGN SR I
(CHCBTENS (PLH TR FAT

Explanation:

SIBIWhY] Sustified> — 78 oo SISt ST 30 B SOEIET < |

AT et e —— S

76. CATAG CHIFSRT (TN (AT (Ot FAT ZCACY ? (1 point)

[JU-Ay; : 2021-22]

GIATY



T3S
® =
ILIRYEER

Explanation:

SI@Why] GRE ETifEat R TwIghon TR ez T
@ARE QA tofd 0T 23 fofae efobm gmm i

Part B : Extra Syllabus

77. 20 Kg STAR G310 ARTHTAF BT 5 ms! (AT 0.5 m YT gFOFICS5F (1 poiny)
Y (OW FATS T IR ITAT WV F9?

[P-1.3, JU-Ay; : 2021-22]

-05N
-0.432 N
05N
5N

@® Blank

Explanation:

S whY| IS =& Soroiwy:
JooE = sifexiea sfeaes, W = AE,

2 2
:>Fx=-1-mv2 L[5 /ey _20x5°_500
2 2x  2x0.5 1

= 500N

78. (PN AFT0 TN IF ANCICN GATT Ol GIT FS? (1 point)
[P-1.3, JU-Apy : 2021-22]

0

o

@ x1 T
(P62 N

Explanation:

SI@whY| et gfeiE /E @ wefRee s e
AT 2 | ARy $a (939 A o2 fre RS parE ST
T | FOdIR PRI G0 T AR |




79. STNTNA RO It AlFHa 35 I70T QT g9 O8I qthid (1 point)
VLIS (1T FO?

[M-2.8, JU-Ay; : 2021-22]
0°
45°
® 60°
90°

Explanation:

[SI@WhY] «f%, 2=tax P, P =& 21 R 201 4R WTHA TLRS! @I o
AT, R*=3P* . 3P%=P?+ P 2P cosa

5 |
= 2P%cosa. = P? = cosa= 5 =607

80. ABC NQIQ Wg g AB, AC 4<% BC 919 99199 TATHIA 4, 2 492 1 45 (1 point)
N I S T19© A Gt | TN 92

[M-2.8, JU-Ay; : 2021-22]
33

3
\3

® (HFAG2 T

Explanation:

N

N wn

SWhy RcosO = 4cos0° + 2cos120° + 1c0s240° =

A
0°=L2N

Rsin® = 4sin0° + 2sin120° + 1sin24

R+ (2)- v




JU-A : 2021-22(Set-Q)
FAFAna AfS Roiermrgat:-
. %J%Physics & Math Unit) Unit “TSHIY (TG 2PY=80 B, (B WIFH=80 43 (TG ANT=55

|
. Ao MCQ 97 TT 90 Fta 75T Bea AR 1912, AfS® MCQ a7 fés Setaa
B FATAE FATO 0T 932 (FIN AN NT AT (N A FHTAa<g FAT N

o SfFE=23, MATSEN=22, TITN=22, A=, ZAGI=9, Iz Vel ([T [77F) = v 757711
RIS SRS RII0T9-2 T8 g F40% 21|

. 21|\')|[§ o1 GBI G5 0.2 NF FON FA1 XA
o (XY |§§

MCQ AR (T FUOF G ST W2 e FE Submit A {FF FI (O
OB ING O R(J ]2 Y AT COTNT AT (I (MATO A

FIAFLAGF AR P I AT

Part-A : Short Syllabus

I. 9B 100 MeV (FIBTHNS T T IO ATA? (1 point)

[P-2.8, JU-A : 2021-22]
6.3 x 10 34
100 x 10~ % x 1.610° 1

100 x 1076 x 1.6101*
6.3 x 103
® 100 x 10° x 1.610 19
6.3 x 103

None

Explanation:

SI@]why| o= #f&, E = hu

6 -19
—u=E _100x10 x1.6x10 ",

h 6.3 x 107

— i

2. SfG EIIT I (FN FNF ATTS WM AT T FIFHF T2 (1 point)
[P-2.8, JU-Aq : 2021-22]
® (5N
AN
RlIIC]eD
NGEN

Explanation:



S[®]why
(i) XY T afeoa T
(i) TR pART < o
(iii) 73t frefgame = Intermediate Vector Bosan
(iv) 7= frefgame 3= (T
3. WLAFFAR Trerots f$ R s Far T (I point)
[P-2.10, JU-AQ :2021-22]
NHIREERRIE)
RISV
® HowER
(G2 VT
Explanation:

SI@IWhY|(i) Sé-=1RAIR Ticre: EHHPERE 3 GFy Flee e |
(ii) GfeeS: wwfiee @ fede Reta |

4. 1000kg OTAT AFH(6 JITHFA GATIN 200kgms™! ZCA 47 fo*IF T2 (1 point)
[P-1.5, JU-AQ :2021-22]
10J
® 20J
30J
40]
Explanation:

2
_ 200 x 200
@JwWhy| Ey. =L =20]
S{EYWhy] By =5 —= 7 % 1000

5. p-n TN STTIISY FA TN VA7 T F13Y- (1 point)

[P-2.10, JU-A : 2021-22]

(RMCAF ©THN

B GEICERVICE
@ TN AR AN
AT SN



Explanation:

SI@Why| S4iF =T DA FC:
o LI IRCA: FT2IT BIZT 2A17 |
» Reidte ImeT: otz = 3fa «irw

6. (FFATA BTN SHIRAT (F(G ? (1 point)
[P-1.2, JU-AQ :2021-22]
® I
oF

I
3| BEACRICR

Explanation:

[SIQWhy] T @t oi¢ Teee (F =R |

W,W=?.§=Fscosﬁ
HOdR, FIe CFeid |

7. @-Q FICHFI Al (FIB 2 (1 point)
[P-1.8, JU-Aq : 2021-22]
® 12
MLT2
M2T—3
MT3

Explanation:

SI@Qwhy| PR <, F=kx .. k=

F
X

PR &3, [K] = [Mg;j I k=M1

8. CRICAT ATTARIA B2 ATCS e *NAFT 1 (o6 T o1 Wey Ty 1 (1 point)
ST fagye o= 61, 572 wAfFarRia affafRens -



[P-2.2, JU-Aq : 2021-22]

1 82X

® | ST
1/2 82X
(G2 VT

Explanation:

SI@why| &= @i, [= GV
A, G IR ezl | «q s e |
1A

L 18=28- L 10!
S} g (0

7 10N g5 N Y-SITHA ALY 60° (HTCT S | IAMBA X- W5 IAqR{ ey (1 Poin)
TN TS ?

[P-1.4, JU-Aq : 2021-22]

5

®:5/3
0.5
25¢
Explanation:
SIAIWhY| X o 39177 Soreel, Y
F. =Fcos0 «\Qﬁ
=10 x cos30°
60°
3
~10x N3 - 5\3 30°
2
0 Bt
10. (PG FATHTNA IT NA 2 (1 point)
[P-1.5, JU-A : 2021-22]
DRG]
o =Y 79
® S 3
(P2 VT

Explanation:



SI@Why| ST T Srgdd: 0 90T T Pl |

ELig T AR R (G
2 X !
T4 | RS W fRefga s | @
1. SFFTGTNT Cq4fI=] 54.3584 W2 2 (1 point)
[P-2.1, JU-AQ :2021-22]
FTGN O ARV *I
@ FfHCH O-TIRIANN NS IMI
46 SN =N (Fed
(G2 VT
Explanation:

é[vhy mﬁi e et (@ St e s FlF, oe
@ AT T ATIEZ ACE, T @ AW (@yi<g O |

i, wfEeeEd - 543584 K
i, ot - 273.16K
iii. #W - 234.3156K

- - e

12 9%fB ST7e (AT 1o WA 1m | ST 0° 933 1 FARTB 120w (1 poind)
FN TH| & AT (AT Sifod AT (SR 2

[P-1.8, JU-AQ :2021-22]
® sindnt
cos 4t

sin b7t

A8B

Explanation:

[SIB[WhyY] == carer sifes Sraae:

X =A sin(ot + 8) _2nN _ 21 X 120:4
® T
= sin(4nt + 0°) t 60
. X = sindnt A=l
6=0°

13. {6 OIfGOIGITS O 25MHz FATHHAZ *[NTEI 2-S5F A3 (1 point)
1o 2| (@ R o 92 ofSe CF g £ = 5iVvm ' XA Q
ICR/ACIRCE RY LR



[P-2.4, JU-Aq : 2021-22]

o 5
3 x 10%

T

3 x 108
5

25 x 109
T
3 x 108

(FING2 VT

Explanation:

S Why

14. 9N STANTAT & BT 1m3 RFFTTIN 8 1m3 WFToW ST Aty | (&= (1 poind)
ST SF S 4T (T 2

T

B 9. E=5Vm™
3x10 C=3x10®ms™

vo)
|

o |1

[P-1.10, JU-A : 2021-22]

NIRRT
f=ferrs

L ACCRER MO
(FIOE T

Explanation:

SI@Why] & STt @ B @RI TH 9T WS S
ey e |

. SR R =

N, _ 6.02 x 107

W Sal T © YW

15. 137,, (3 BCD 432 ARNTAITS TP FATS TAFHTN TS fIB qraro 2 (1 point)

[P-2.10, JU-A : 2021-22]

® 838
8812

12812
All

Explanation:



SWhY BCD @7 1 Zee1 ‘Binary Coded Decimal' S
E Afeld WHE (o (@ b AAR) WAeey b9-KG 2T ==
df g4 A9 49 e @BE BCD @IC 97| BCD &% @
AT o&fe T | @it AR @Fwe A &S wwE AR
ICRIC FAG AR 1137,, (F qRAIfCe F#iga I § 6 271 «uae
BCD (® ##i®q 4t 12 {6 =7 1 (137),0 = (10001001),

1 9%fB wB= OIS F AP BTSN 200L, STANTAT 27°C, 8 BTN 2 atm (1 point)
foUa® ZTIIS CHTE (91T A7 TUTS ST (FIT ANFAT AIIZNE I
ATSNT I 2

[P-2.1, JU-Agy : 2021-22]
1w
TP + = &IF
pv' =&JIF
[UCEEY

None

Explanation:

SIOIWnY] BT =0t s Theur wwett et | v,
i BI-SIrew 57: PV = a0
i, SIe@-STes 7o TV = a5

s
11, ON@-b 9% TP v =79

17. STHAT (F MICAF Sfoorad I (W 2 (1 point)

[P-1.10, JU-A : 2021-22]

FIR RN
P HERIGG

(MG NITN
@® None

Explanation:

S[@]Why| =T 1730 sfieet cehifer st stfvorga Tt o |
e Tl oW sfeergn wve | axiel, HeR sifvergy Sead
TR T DETA, WIS, &, @I, SpTe emeT |




18. QTGN NRMTEIA 30 IZF IHCH 2.4x108 m/s (ITT ST TZATC (1 point)
BTG QTN SYHARN (AN | AfTAT FICAS I WY ¢o IRT A
g srfere FfATe et 9t ora ITH-

[P-2.8, JU-Aq : 2021-22]

® (o g7 RN IR
¢o I PV XJ

¢o IRA2 ]I

None

Explanation:

2
SI@WHY] t=——= = 1—(3) =50 x 0.6

- °

= t=30year .. SRTHINT WA =30 + 30 = 60 T2 |

19. 0 C STHNNTATT 9B O WL MNINGT ST (AL 100 Q ZCA 30°C Ororurgry (1 poino)
O] (I FO (] ?

[TSHINTOTE (ATYE OO 29T 3x1075 0C)

[P-2.1, JU-Ag : 2021-22]

® 100.09 Q
100.90 ©
200.09 Q

None

Explanation:

SI@IWhY| t°C S @, R, = R, [1 + at]

2 R3p=100[143 x 107 x30] =100+ 9 x 1072
Rso = 100.09Q

TEA:

i. o=x°C" T, t TE GTEB@T |

ii. o=x°K™" 2, t 3F @Efor |

20. 93fB 4ToF OIAF A 6¢| AfOTF 3m TJT 9FO JOIF 9F AT (¥ (1 poiny)
AfS ITFTS 4317 JATTHT (G | AF (FITF ©AIN TS 2

[P-1.4, JU-Aq : 2021-22]

® 1.356 kgm'zs'1



1.4x10% kgms°!
0.6 kgm'zs'l

4 kgm'zs'1

Explanation:

SO WhY| G S2@, L =maor’ =6 x 107 x 27[1>< 2 3

-. L=1.356 kgm™s™"

21. WHBIIA B (SR G __ FITHAT AIZE FAT T (1 point)

[P-2.9, JU-Aq : 2021-22]

RINEIR
oIt
G-

® TrerRe A

Explanation:

S[®]why| s=_eEiRe 2t Ares:
* IHRICA Y G V517 |
¢ SAHIA B4 CSIEA FICIAT |

22. (F HRI6 (SIS TTed SATAN ? (1 point)
[P-1.1, JU-AQ :2021-22]

ST 8 TG
L ACERREC
B & (9
©F 8 STl

Explanation:

S[]wny (SIS TeEITed Boive- 413:‘
LS9 L FE il B (T v,

B o ——— o —




23. fRAE BITA 12° ¢ OTANTATY A6 FNIE A STtHg SIre~ 0.65L.1 (1 point)
BT ATITEN 1 T F© O3] OIoNrary S ST WIr¥ow 0.75L
XQ?
[C-2.1, JU-AQ :2021-22]

32.885 K

3288.46 K
® 32885K

318.85 K

Explanation:

[S[@]why Yy _ ¥y Ty ='12°C = 273 12 = 285K
T T V,=065L
Vo1 _ 33885k | T2a=?

Vl Vg =0.75L

3T2=

24. 0.005M H,S0, BC9 pH 99 U $9? (1 point)
[C-2.3, JU-AQ :2021-22]
1
12
[ )
13

Explanation:

SI@]why] ¢ [H]=0.005 x2=0.01 * pH =-log(0.01) =2

25. (I ¥I0S A0 IFBI T W SIITHS NTOT S6IT T2 (1 point)
[C-2.1, JU-AQ :2021-22]
® Tt wrorwTar 8 fRF By
O OIN1GT 8 GG BT
AN Ororrar 8 fAF oIy
IDEAS) R b Ko ICRC R (4o

Explanation:

SIBIWhY| & Steriar @ 7 vicet TR ANEE SWweN S @
T 0T AV 7T S AT I SR |

26. IS HATEH (PN FSOINNTHT W12 (1 point)



[C-1.5, JU-Aq : 2021-22]

fSBIN-A
fSBIN-D
fOOIRH-E
® fSBIRE-K

Explanation:

[SI®]wny] RfSq feoifiTm 17 T ¢ werrsrs @

A @fone AoFH!
D LGS fareow
E OL-0 (IR o (AAfNT® B
K ﬁi"tﬁ@mﬂ 59
27. fRTeg (@ I Fnfaenar e e (1 point)
[C-2.2, JU-AQ :2021-22]
CH3;CHO
CH3;CHsCHO
® C,H,CHO
CH3;COCHj3
Explanation:

SI@]why| Fnfisicar Rfear eig e A= a-hydrogen AE
A 1 9T CgH;CHO @t FITt (o) hydrogen 2 |

28. CO, ATSHI Y (N JLA? (1 point)
[C-2.1, JU-AQ :2021-22]
® LrorNTe
SHIGINGe

(NATNSA
O[ANDG

Explanation:



SI®why| Srettfems:

IR | A Soifye B
EE (km) il

e
& (R 15 | N2 02, CO,, o a1 BeTrpe

AI', HQO
® Thdh AT

-
'

29. fRfAR SIPTITATT 200mL =G BITH 15.5¢ CaCl, HAg® WITR | fA6ra (1 poino
ofS cacl, 99 AIATOT F©?

[C-1.2,JU-Aq : 2021-22]
69.5 g/L
75.5 g/L

® 775¢/L
62.5 g/L

Explanation:

(&I GTCF) 73T =

S[@why] @r=ret, S =

188

= 0SS = -0'—2'= rs g/L
30. (PG afsts IR Ty wrAl? (1 point)
[C-2.1, JU-Aq : 2021-22]
Co
CO,
® so,
N,O

Explanation:



SI@IWhy] armstE Sigsrw+iv JfBre pH @7 [T 5.6 97 TN T3
@ STFFE OfTe I 90T | AYEIre 99 pH T (5.6-3.5) W

UCF | 93 T o410 @fiie AeE (H,S03, H,S04,HNO;) T &

I TEF SO, 8 NO, IO Ty 27 |
TeIRE qfEq e CO, B9 SZA H,CO; A AT | @it vde
afsTe e «ft S5 sAfawite wwfae =7 |
31. (I CHITHY TR IFHN 2?2 (1 point)
[C-2.2, JU-AQ :2021-22]
® C,H,
HCHO
C,H,
HCN

Explanation:

SI@®Iwhy

H H
o o o3 — 5T
g R
o (8]
n-3%9 — 0f6
H H
32. AN ©F I00 wrvar i gfae (1 point)
[C-1.2, JU-AQ :2021-22]
BRI ERSE
CERICERCG
(AN 8 SRR ©d
@ SR

Explanation:

SI@®IWhy] “aifde o e MeFarm e, fefFTm v aa
(&0 8 fTeGa ware R |

33. {6 (TN ISI6 BTNOT Ty Ciedr I = ? (1 point)
[C-1.5, JU-AQ :2021-22]
(RIS
ATACH 0T



® ST

Explanation:
[SI®Iwhy] ©Gr RE T qEOSTT RN STERIES,
A0, @, SebifEs o |
34. (@ AfF T oFa (T [RENGR AIIIF FAITTAR (1 point)
[C-1.2, JU-AQ :2021-22]
Ao
P AT
STSTEG AT
@ T (AT
Explanation:
S[®why] =07 vl Reasae @& PE, i @,
ST, IS, AT MEHH, RS, @GR At Tof

TIRA T - | AZG #ATo7 e “Mieda [Reree araze 27 |

35. TG CJT -COOH AT *IGFALT (FIN(B ITITS TN? (1 point)
[C-2.2, JU-AQ :2021-22]
NaOH &<
FeCl; G
AgNO; &9

® NaHCO; B3

Explanation:

SI®]WhY] -COOH Te& Mot & 5% NaHCO; &<
490 |
CH;COOH + NaHCO; — CH;COONa + CO,T + H,0

36. CcL- WIrHe BAfES fRf* oo Fa1a Oy (6 IT3Te T2 (1 point)
[C-1.2, JU-AQ :2021-22]
BaNO;
Al(OH),



CaCO,

Explanation:

[S[@]why

Cl'(aq) + AgNO; = AgCl (s) + NO;y~

Tl ST

TR SO

37 500 mL COIITNIEE BT S TV H,S0,, ATTH? (1 point)

245¢g
®490¢g
9.80 g
498 ¢

Explanation:

[SIG]wWhY

W
M

[C-2.3, JU-Aq : 2021-22]

—=VS =>W=05x0.1x98 =49¢

38. (PO (VBT TATES ASTOT ATFO? (1 point)

H;PO,
H;PO,4
H;PO,

® HPO,

Explanation:

SI@]why| T5TEaT @

[C-1.3, JU-Aq : 2021-22]

LSIER RIS

qaftes

ATT®

+1

H;PO,

BT ae

+3

H;PO;

TAFART GFTe

43

H;PO,

TATEP GPTe

+

HPO;

COTENeRS UTe




39. IV (TQre OAYS ©f w8 ATy RTIT (FRSTer I737° T2 (1 point)
[C-2.4, JU-AQ :2021-22]

@ KCl, KNO3, NH,CI
KCI, Na2804, KzSO4
KCI, N32CO3, NH4C1

KCI, NaNO3, NH4C1

Explanation:

S[@]why| == crgre (KCl, KNO;, NaCl, Na,SO;,NH4Cl)
Zofo R A |

40. fRTHA (PO WA CT9T? (1 point)
[C-1.3, JU-AQ :2021-22]
® CCL,
CHCL,
CH;0H

HF

Explanation:

SIOIWhY] CCl, 93 TIRTAR (s a7 | ©1R aft SToArew i |

41. A 4+ B & 3D FRAGTOTe 8 93 57 AT R F41 (1 point)

[C-1.4, JU-A : 2021-22]

Kp = Kc (RT)!

Kc =Kp (RT)
® Kp = Kc (RT)

Kc =Kp (RT)?

Explanation:

SI@Why] K, = K¢ (RT) > =K, = K¢ RT)

42. BT ST C9Y ZTAT - (1 point)

1. H,0
2. BCly
3.NCl,

At (e w5



[C-1.3, JU-A, : 2021-22]
182
283

® 33

1,283

Explanation:

S[@WhY] 7 { @fw QliteTa ¢ AW ¢ AN + A%
GITE GG x 2 AT — (+ Bler) }
* H,0=[6+(2 x 1) = 0] = 8 5B
* BCl;=[3 + (3 x 1) — 0] = 6 @
* NCl; =[5+ (3 % 1) — 0] = 8 S22

43. (HG SMCATA P 5T T2

(1 point)
[C-2.2, JU-Aq : 2021-22]
PO
® (R TIFOA
RIEIE
ST

Explanation:



S[@]why

e

]'57nﬁf?Rﬂn,

dn+2=n

AN

Aromaticity

14

4n+2'= 14
. n=3

Aromatic

lone pai'r- electron
(TSI S
("

dn+2=6
1 N

Aromatic

fafafes

o0

N
lone pair electron
SIACHAC RG]
el

In+2=6
R ) e

Aromatic

CUEEI]E
fFeaE

Q

4n+2 =10

. n:_-l—
.. 2

Non-
aromatic

Fd

[ -

T T

4. (T *IY I AOIIN FUOT JMH AUNF I P (WY OICRATSH (1 point)

fF

QMNP AR
I AORB
O G AP

® o< [T

Explanation:

[C-1.4, JU-Aq : 2021-22]




SIOIWhY] &< TSR SSRE I WIGLIA A S

T aRRepRLE e e

(IF AIIOS faferara «ifs Jfa v

1fT 31 SO SEhe | T-24ORT RPN IS I

w48 efeRe R A FTY ST REIE F1% 9
OITT THIAP A6 Y TSl AW M

45. 2x2.5x+2=0 TNFATTT B0 YT 2 T WA A T 2 (1 point)
[M-2.4, JU-AQ :2021-22]
® 12
3
2
1

Explanation:

SI@®IWhY] 2x° - 5x +2 = 0 97 T 2 ¥R

:a+2=§ ;a=5 :

2 2 2

46. /1 dr (1 point)
0

[M-1.10, JU-A : 2021-22]

—

m
2
®r

None

Explanation:

SI@]WhY] x =751 32 30° @R . m = tand.

:>m=tan30=-l—

\ﬁ




47. ' dx 2 (1 point)
/0 V2 — x? o

[M-1.10, JU-AQ :2021-22]
/2
@
1

(FING2 VT

Explanation:

PadilXu o bELE L e
fo o2 —fwl_(:_l)zdx—[sm'(x-l)];

~o-(3)-2

-

48. y=2x+b (AYIB y2=16x AAICST =V*{F I b IF VN FO? (1 point)

[M-2.6, JU-Ag : 2021-22]
1

@
3
4

Explanation:

SAEsol"] y = 2x + b @M y* = 16x =TT =i
4
_2:2

X -~

49. y=x3.3x2-45x+13 TIHLALE (-3,94) fITo wfgre ~ofs 99 o fRtoa (1 point)
(TG

?

[M-1.9, JU-Aq : 2021-22]

Explanation:



SI@why] y=x>-3x*—45x +13 - %xz = 3x* — 6x — 45

(-3, 94) fze, gl)% =3 x (=3)2— 6 x (=3) —45

=27+18-45=0
50. 3x2+4y2=12 BAJLGA GSTH AP Ol (FRIG? (1 point)
[M-2.6, JU-Aq : 2021-22]
1/4
® 2
3/4
V3/2
Explanation:

2
SIEBIWhy] 3x* +4y*=12 =X +%=1

ay [ \/— 1
2
S y=x+6 g3 y=x* RIAT VA7 CHFLIF CFaFA O I IFF ? (1 point)
[M-1.10, JU-Ay : 2021-22]
119/6
121/6

® 125/6
41/2

Explanation:



SI@WhY] y = x+6.... (i); y = X2 ... (i)
(DS ()@, xX*=x+6 yi=x+6
= %" —x=16=0 ¥ 2
=x*=3x+2x—-6=0
=>x(x-3)+2(x=-3)=0
= (x=3) (x +2)=0
LX=3,-2

3
L"]Ws J. (X + 6_X2)
-2

2 4-13
X" e Xl 195
:>[2+6x—312— 3

52. gec? ( (cot - 1) 3) + cosec? ((tan - 1) 2) Gq NN $9? (1 point)

[M-2.7, JU-Aq : 2021-22]

5 12
13

Explanation:

| S. WhY| sec” (cot™ 3) + cosec” (tan™'2)
4. Iy : il

= sec™{ tan § S COSEC™| COl o

2
2 1l 2 ]
= ] +tan” | tan 3‘ + 1 +cot” | cot 5
12 1\? 1 | 85 13
SRl ilabia] Sl d=9" 4= e —=
(3) (2) TRiR s T
53. |1 1 1 (1 point)
1 1+= 1 =7
1 1 14y

[M-1.1, JU-AQ :2021-22]
X+y

_Xy
®

I-xy



Explanation:

| G | 1 B SO | :
@sor] |1 14x 1 | =|- 1 [Cl=cl—°z]
5@ ol i Q' =C—C
1 1. 5y 0 =y l+y
0 -y B

54. 2x23x+1=0 ST ATTA YA o CIMTHTAL ANY Y1 Jfod STHa cqrey (1 point)
FAA T© T(A?

[M-2.4, JU-Aq : 2021-22]

Explanation:

S.Why 2x*—3x+1=0 qg I 7F a, B T, 0‘+B=%

1 . 0 BT
== -+ -+ =t _—= ==
af e B+ap 55 2
55 4 [3 g] ,A'l ? (1 point)

[M-1.1, JU-Aq : 2021-22]

—4 5
Equatione = l . ]

9 -5
Equatione = l ]
-7 4

2

3. z2

2 X

4 —
Equatione = l 7]
-5 9

Explanation:

o 0L R | [9 —5]_[9 —S}
S‘V"YA“[7 9}‘”‘ 36235 1y M e

56. tan((cos_l)a:) = sin((tan_1)2) A x g NN $9? (1 point)



[M-2.7, JU-Aq : 2021-22]

® 53
\3/2
13
35

Explanation:

S[Q]whny| tan (cos™ x) = sin (tan~'2)

= tan (tan™ E) = sin (sin —2—):> =X el
X \1+22 X 1+4
2
iﬂ_l_x “4 sl o 0P=5 nx=1
X S 3
57. 3x-6y+2=0 (AU SN g (FUIF B F©? (1 point)
[M-1.3,JU-A) : 2021-22]
2
2
1/2
® .1
Explanation:
| | y Qa6 ]
T (A O = E e ——
S[®]wWhY]| el 7>
(1 point)

[M-1.10, JU-A, : 2021-22]

Explanation:



n2 ; X
dx g, " +1=2
SWhyfol+e_x

= e'dx =dz
nz2 i 3
e 1 X 0 In2
= dx =f —dz
f oe* +1 27 z 2 3
3 3
=[Inz] =In3 — In*=1n=
[inz]. > |
59. 4x-3y+2=0 G2 8x-6y-9=0 (FATZFTHA NLTIO| Y FO7 (1 point)
[M-1.3, JU-AQ :2021-22]
2
10/13
® 13/10
12/13
Explanation:
SI@WhY] 4x -3y +2=0 ....... (i) 9% 8x—6y—9=0

= 4x — 3y — % =0 ... (i) ~ () e (i) «F TS FEY

9
2+=
218
4*+3% 10

60. x24x+4=0 TNFATTA YETRT a 8 b T(A a-b=FS? (1 point)
[M-2.4, JU-AQ :2021-22]

+16
@, 15

+4/ — 20

+ /20

Explanation:

SWhy x2+x+4=0ﬂ§ﬂﬂa,ﬁ§cﬁ
a_Bzi\lb;—élac _}i\ﬁz——lél.l.él 14T

A

61. xy=1 (A dy/dx=3F9? (1 point)



[M-1.9, JU-Aq : 2021-22]

y/x

-y/x

x/y
® xy

Explanation:

SI®Iwhy] xy=1 .- oy ey
dx

X

62. 3y2=5x HAJL@A OATH AR RS (FIA(6? (1 point)
[M-2.6, JU-A) : 2021-22]
(5/3,0)
(5/6,0)
©® (5/12,0)

(0,0)
Explanation:

S[@Why 3P=5x = y2=§x

p y2=4.—-5—x ; %W=(—5- 0)

12 12

63. (1,2) fA97oM 932 3x-4y+8=0 (T TNBATA (FLE ANFAT (FR(G? (1 point)
[M-1.3, JU-AQ :2021-22]

® 3x-4y+5=0
3x-4y+7=0
3x-4y-5=0
3x-4y-7=0

Explanation:

~3X-4y+8=0mm|%@§n

3x—-4y +K=0731(1,2) sy
W 3—-8+K=0.K=5 . 3X—4y+5=0

o




64. 'Settlement’ *TTHI AT 1 (FIN(B? (1 point)
[JU-AQ :2021-22]
BIRAEK]

IS
® s
Qe

Explanation:

S{@®]WhY| 'Settlement'-=5ifG, ST, wres |

65. "ANSTHNF (BN TN ANTH? (1 point)
[JU-Aq : 2021-22]
® 3Ry

S
IR
ey

Explanation:

SOIWhY] Forrera-ors SXq@e | FFTRIFT: Fo Fo 0T |

66. fRTRA (IO AT 127 T2 (I point)

[JU-Aq : 2021-22]
ENEE
o sl
NG
%
67. '"Why did they arrest?'- Change it into passive voice. (1 point)
[JU-Aq : 2021-22]
By whom were they arrested?
Whom was arrested by them?

@ By whom they were arrested?

Who did arrested by them?
68. Find the pair which has same relationship of 'Ecstasy : Pleasure'. (1 point)
[JU-AQ :2021-22]

Affection:Condemnation

Approval:Privacy



@ Rage:Anger
Hatred: Affection

Explanation:

S[@]why| Ectasy — ©%&™; ectasy *#f6 pleasure G FILE *I% |
Option C (® Rage ((&F1¥) Anger ©F J4S *% |

69. Choose the correct preposition in the following sentence- (1 point)

There is a mistake page 20.
[JU-Aq : 2021-22]

@
in
on

of

Explanation:

S[@®]why] Page Number (@R Proposition At T | $#&d @I
BOCTE AL @ A @RI 'on' X1 @A 7RF wreraE
(AR Preposition 'in' | @I g7 AL F=91F @RI
Prepostion 'Of ¥ |

70. SpOf O gN 45 XCAT- (1 point)

[JU-AQ :2021-22]
E\CIDEaRT)
® B
(BferFrt
GO

Explanation:

SIBIWhY] @& Grfirr smfere (HeNET @A a5 @IS @
(TB1 (e T ©f GHOTIET WA vy FHE e sl
FAS A ONT NTIFE @ 20 | TFEGHPE (WrSq Swgae: o#i-
SMS, &%1- SMS, &¥9- MMS, & t51f5e 37 fofe Swgifes |

L. 657,, CAFGTSBITA CBIF FATF GINT FUATH F© [AL64 (@fGroE (1 point)
THTGN T2



[JU-Aq : 2021-22]

8
® 6

32
64

Explanation:

SIB]why] WiEsE 10 fSfew e — 657 o T &y 16 <6
TS |

72. {36 HIRTHAIR IO 2THR- (1 point)

i. OITOT I B BN Hdl
ii. GYOTE TG RIS 8 ey wiefdes fJ6
iii. ITGO2Y JF AT IACITAT

fAtea Mo 55w 2
[JU-AQ :2021-22]
®;3ii
ii @ i
i @ iii
(FAGR AOF

Explanation:

SIBIwhY| i. TIbTE IF I AlGHE 8 FABI—> Fsme |
ii. GG f4Uod ReyeT 8 sege wfefae f[6— Suifmee@e |

73. fRrwE (@forerd (ofate FII9 TN- (1 point)
[JU-AQ :2021-22]
S-K Tpo-5¢o
J-K 5oy Y

S-K 8 D f3po-359Y
® ;K 8D {FFoN-F

Explanation:

SI®IwhY] D -3 a1 JK FFol-ge k%" a@ w8 @fesE

tofs <91 W | 59 D fFA-ot 9199 @ 9o w9 4 [/E Fres
@fo1E tofd a1 =77 |

74. fNTEE (FIRG Web Server A FIGT TN? (1 point)



[JU-Aq : 2021-22]

O HLTHY
BUIANG [T AN

PICICHI LAY T561
@ JRIIFIAE Apps AL 2

Explanation:

SI®Iwhy] steesds @t srEeRE mw&awaﬁ“w%
T W SR A | IO AR SRS 4 SR
A AEE (AF M & 30| @I AT HTTP AGiae

TR I AR STATHRE FGFS ATy ot ey A welfe
STACARE FAIAIR A |

5. AB + (A + B) 47 TAAISAT XCAT- (1 point)

[JU-Aq : 2021-22]

'
Sy

+
B

N

AB
® AB

Explanation:

S[®]wny] AB+ (A + B)

AB+AB=AB.AB =AB

76. g6 (BFATH HFAF T fAT6 W H© 76 Ted WS FAF Gy (1 poind)
fAT6a (N HTML code fE TTIT© T2

[JU-Aq : 2021-22]
tabmerge
tabspan

@® Colspan

Rowspan

Explanation:

SI@]why] a2 i o7t e s W_Rowspan G2 FEAMN GTeT
e 419 &7 Colspan |




7. FRTI GIAN FLI SAOOIF (YTF ©T §iF FTI NTT ISTMCFH IATTH- (1 point)
[JU-Aq : 2021-22]
s
® pfrs
fafse
=T

Explanation:

SIAwhY] == Ifes swpsyf o TeArR SweT RGNS
IS fovw AfSBitTa TRt et I el 90 |

Part A : Extra Syllabus

78. p, p NIV 2 6 T4 wfF P T ITRTIA NLIIS! (1T F©? (1 point)
[M-2.8, JU-Ag : 2021-22]

30°

60°

90°
® 120°

Explanation:

SIOWhy[Sats, P= Q=R =T a = 120° 27 |

79. STANICA {2 o 09 AfFa (9 IT70HT STHAT 0 BT| GTRG NLIFe! (1 point)
(BT FS?

[M-1.2, JU-A : 2021-22]
0°
45°
® 60°
90°

Explanation:

SI@why|«f, <@g P, P @ 957 R 20T @k qwd W4T (@1 a1

erwte, R2=3P% .. 3P?=P%+ P*+ 2P? cosa

|
T, 2P%coso. = P? 91, coso= 5 S.o=60°




80.

0 5
Equatione = l ]

1 2
-5 2
Equatione = l ]
10 4
Equatione l_5 _2]
10 -5

[M-1.1, JU-Ag : 2021-22]

A= [ 25 _21] a3 B - [g _01] X0 AB 97 NN fAfy 522

(1 point)



